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FOREWORD
This Candidates’ Items Response Analysis (CIRA) is based on the Form Four
English Language National Examination which was conducted in November 2021.
The Form Four National Examination (CSEE) is a summative evaluation which
intends to provide feedback to all education stakeholders on the factors which
contributed to the candidates’ performance in the English Language subject.

This analysis shows clearly the factors for the candidates’ performance in the
English Language subject. The candidates with high performance had adequate
knowledge of tenses and grammatical rules, sufficient basic vocabulary for use in
different contexts, ability to interpret and combine concepts as well as to analyse
and interpret literary works. However, the candidates with low performance faced
some difficulties in answering the questions. These included failure to interpret the
questions and insufficient knowledge of the concepts tested.

The National Examinations Council of Tanzania expects that all teachers, school
managers, school quality assurers, educational administrators and other
educational stakeholders will use the feedback provided and recommendations
suggested in this report to improve teaching and learning among students as well
as candidates’ performance in the future examinations administered by the
Council.

The Council appreciates the contributions of everyone who participated in the
preparation of this report.
74

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0 INTRODUCTION

The report presents a comprehensive analysis of the candidates’ performance in
the English Language subject for the Certificate of Secondary School
Examination (CSEE) which was conducted in November 2021. The English
Language subject examination for both School and Private candidates was set in
accordance with the 2005 English Language Subject Syllabus and the 2019
English Language subject examination format.

The examination tested the candidates’ competences in Writing a Variety of
Texts; Talking abour One’s Family; Reading and Interpreting Literary Works;
Writing Using Appropriate Language, Content and Style; and Talking about Past
Events/Activities.

Moreover, it tested their competencies in Reading for Information from Different
Sources; Asking for Services; Using Appropriate Language, Content and Style in
Speaking, Writing Application Letters and Talking about Events.

Section A consisted of Questions 1 and 2. Question 1 carried 10 marks and
Question 2 carried 5 marks, making a total of 15 marks for the whole section.
Section B consisted of Questions 3, 4, 5, 6, 7 and 8. Questions 3 and 4 weighed
four (4) marks each, while Questions 5, 6, 7 and 8 weighed eight (8) marks each.
The total marks for the whole section was 40. Section C comprised Questions 9,
10, 11 and 12. Each question carried 15 marks, making a total of 40 marks for the
whole section.

The candidates’ performance on each question is presented by indicating the task
of each question, the expected responses, how the candidates responded and the
explanations on the candidates’ responses. Sample responses extracted from the
candidates’ scripts have been presented to show how the candidates addressed the
demand of each item. Moreover, the levels of performance have been categorised,
as shown in Table 1.



Table 1: The Levels of Performance in the English Language Subject

Range of Marks Grade Remarks
75 - 100 A Excellent
65-74 B Very Good
45 - 64 C Good
30-44 D Satisfactory
0-29 F Fail

Table 1 shows that the highest level of performance in the English Language
subject is Grade A, while the lowest level is F. Although the performance levels
are categorised into five grades, as seen in Table 1, the presentation of
performance statistics is based on three categories, namely Good, Average and
Weak.

Based on the percentage of scores, good performance ranged from 65 to 100 per
cent, and it is represented by green colour. Average performance ranges from 30
to 64 per cent, and it is represented by yellow colour. Furthermore, weak
performance ranges from 0 to 29 per cent, and it is represented by red colour. The
candidates’ performance on each topic is summarised in an Appendix.

The number of candidates who sat for the English Language examination in
November 2021 was 487,541. Among them, 323,719 (66.84%) passed with
different grades. In contrast, 435,447 candidates sat for the examination in 2020.
Among them, 320,272 (73.55%) passed with different grades, as shown in Table
2.

Table 2: Candidates’ Pass Grades in CSEE 2020 and 2021, English Language
National Examination

Year 2021 2020
Grades | A B C D F A B C D F
Percent | 1.2 |25 |19 44,1 | 33.2 | 7.10 | 9.42 | 28.03 | 29.01 | 26.44




Table 2 shows that the performance in the English Language examination in
2020 was better than in 2021. The performance was decreased by 6.72 per cent
in 2021.

2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER QUESTION

2.1 Section A: Multiple Choice and Matching Items

This section consisted of two (2) compulsory questions. Question 1
comprised ten (10) multiple choice items, which carried 10 marks. Question
2 comprised five (5) matching items, which carried five (5) marks, making a
total of twenty (20) marks for the section.

2.1.1 Question 1: Multiple Choice

The candidates were instructed to choose the most correct response from the
given alternatives and write its letter beside the item number in the answer
booklet provided. The question tested their appropriate use of the English
Language in the areas of Reading a Variety of Texts; Expressing Opinions
and Feelings; Interpreting Literary Works; Talking about Past
Events/Activities; Writing a Variety of Texts; Speaking Using Appropriate
Language, Content and Style and Writing Using Appropriate Language,
Content and Style.

This question was attempted by 487,541 (100%) candidates. Among them
197,186 (40.4%) scored from 0 to 3 marks, which is weak performance.
Moreover, 231,221 (47.4%) scored from 4 to 6 marks, indicating average
performance. Furthermore, 59,134 (4.9%) candidates scored from 7 to 10
marks, which is good performance. Their general performance on this
question was average, because 52.3 per cent of the candidates scored from 4
to 10 marks. The candidates’ performance on this question is summarised in
Figure 1.
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Figure 1: Candidates’ Performance on Question 1

The analysis in item (i)-(x) is as follows:

Item (i) asked:
(i)  Which statement is the possible condition of the expression “If I had lost my
job, I would have gone abroad?
A If I lost my job, I will go abroad.
B If I had lose my job, | would go abroad.
C If I lose my job, I will go abroad.
D  Ifllost my job, I would go abroad.
E If I had lose my job, I will go abroad.

In item (i), the candidates were required to demonstrate knowledge of the
correct use of conditional sentences. Conditional sentences express factors or
hypothetical situations and their consequences. They consist of two parts: the
main clause and the If-clause. The If-clause expresses a condition, whose
main clause becomes true or would have become true in the past. There are
three types of conditional sentences. The first is Type | (the real condition)
whereby sentences are used to express situations in which the outcome is
likely to happen in the future. For example, If you rest, you will feel better.

Moreover, Type Il (an unreal condition) expresses outcomes that are
completely unrealistic or will not likely to happen in the future. The sentence
If I inherited a billion dollars, I would travel to the moon serves as an example
to the Type Il condition.

Furthermore, Type 111 (an unreal condition in the past) is used to show that the
present circumstance would have been different if something different had
4



happened in the past. This can be exemplified by the sentence, If you had told
me you needed a ride, | would have left earlier.

Therefore, the candidates were supposed to be accustomed to using the types
as well as the structure of conditional sentences in order to choose the correct
answer. To achieve this, they were required to know that the condition in the
stem of the question is in the third type (If | had lost my job, I would have
gone abroad). Consequently, they could change the third condition in the stem
of the question to the required possible condition, which is Type I. Thus, the
correct response was C, If I lose my job, I will go abroad. The candidates who
chose alternative C were knowledgeable about and skilled in changing the
Type 111 condition to Type | (which is a possible condition).

They were also knowledgeable about the form of the third type of conditional
sentences. This type which is formed by the structure If + had + past
participle (in if—clause) + would and/or have + past participle (in main
clause). Additionally, they were aware that an answer should be conditional
sentence Type I, because it uses the Simple Past Tense in the if — clause and
the Simple Future in the main clause to express the likely outcome. Besides, it
is made by the possible condition.

On the contrary, the candidates who selected other alternatives lacked
knowledge of the conditional sentences. Those who chose A, If I lost my job,
I will go abroad did not realise that the alternative was impossible. This is
because the main verb of the dependent clause is in the simple past, while the
main verb of the independent clause was in the simple future. Therefore,
there was no grammatical relationship between these two parts.

Furthermore, those who selected B, If | had lose my job, I would go abroad
were unaware that this alternative was impossible because the dependent
clause was ungrammatical. This is because an auxiliary verb had must be
followed by the past participle form of a verb instead of simple present
(lose).

Likewise, those who chose alternative D, If I lost my job, I would go abroad
did not realise that this alternative was impossible to be the correct answer.
This is because the sentence is in Condition Type Il while the possibility of
the correct answer must be in Conditional Type I.

Further analysis shows that the candidates who selected E, If | had lose my
job, I will go abroad did not know that the condition in the stem required a
change to another form which would be in Condition Sentence Type I. The
question stated that somebody would go abroad only if he/she lost her job
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lost but he/she had not lost the job. Therefore, she/he would not go abroad.
So, the possible condition of the expression ‘If | had lost my job, 1 would
have gone abroad’ was ‘If [ lose my job, I will go abroad’.

Item (ii) stated:
(if)  You hear someone saying “She was my friend, wasn’t she?” Why did the

speaker use the tag question?
A to confirm information
B  toseek information
C  to show positivity and negativity
D toexpress feelings
E  toshow repeated auxiliary verbs

Item (ii) required the candidates to demonstrate their knowledge of using
question tags in expressions. A tag question is formed by appending a short
interrogative structure to a declarative sentence or command, often inviting
confirmation or assent. A question tag has two parts; a statement and tag.
The former gives an expression of complete information and the latter
confirms the information given. It is a rule that a sentence and question tag
must be in the same tense. Additionally, if a sentence is positive, the question
tag must be negative, and vice versa. Moreover, always use pronouns in
question tags.

The candidates who chose A, to confirm information, which was correct,
were knowledgeable about the function of the question tag. They were aware
that the question tag aimed to confirm information in the given statement.

Conversely, those who selected B, to seek the information, were not aware
that the information was already known in the statement before the tag.
Likewise, those who chose C, to show positivity and negativity, did not know
that positivity and negativity in the question tag depended on the statement
and nature of the question. Yet, it is not the reason for the speaker to use the
tag question. Furthermore, those who selected D, to express feelings, had
inadequate knowledge of question tags because expressing feeling is not a
major function of question tags.

Further analysis shows that, the candidates who chose E, to show repeated of
auxiliary verbs were unaware of the rules and functions of auxiliary verbs in
statements. They did not know that auxiliary verbs appear in both statements
and tags. They were attracted by the presence of the verb was in both the
statement and tag.



Item (iii) asked:

(ili)  Which statement is the past perfect of ‘No sooner did we leave the house than
it began to rain?

No sooner we did leave the house than it began to rain.

No sooner we had leave the house than it began to rain.

No sooner had we left the house than it begun to rain.

No sooner we had leave the house than it begun to rain.

No sooner had we left the house than it began to rain.

mooO m>»

Item (iii) tested the candidates’ ability to use correlative conjunctions
particularly ‘no sooner than’. This conjunction is used to convey that the
second event mentioned happens immediately after the first. It is often used
with the past perfect and usually followed by ‘than’ to denote simultaneous
actions. For example, “She had no sooner spoken than the telephone rang.”
Therefore, the candidates who chose E, No sooner had we left the house than it
began to rain, were right.

However, those who opted for A, No sooner we did leave the house than it
began to rain, were wrong. This is because the expression ‘No sooner we did
leave the house’ is ungrammatical. For the grammatical expression in this
context, then the tense ought to be past perfect rather than simple past.

The candidates who chose alternative B, No sooner we had leave the house
than it began to rain, were also wrong. The structure ‘we had leave’ is
ungrammatically constructed. Thus, it makes the whole expression
ungrammatical.

Moreover, the candidates who opted for C, No sooner had we left the house
than it begun to rain, were wrong. The alternative was incorrect because the
expression was supposed to be formed with the conjunction than. On top of
that, the use of the verb ‘begun’ which is the past participle was inappropriate.
Instead the simple past ‘began’ was supposed to be used.

Additionally, the analysis shows that some candidates selected D, No sooner we
had leave the house than it begun to rain. This alternative was incorrect because
the phrase ‘had leave’ is ungrammatical; the auxiliary had requires a past
participle verb and not a simple verb.



Item (iv) stated:
(iv)  Your friend once said, ‘The man was sank in the river but it was the boat

which was drowned in the same river’. You realised the sentence was
incorrect. What was he correctly supposed to say?

The man sank but the boat drowns in the same river

The man was drowned but the boat sank in the same river
The boat drowned but the man sinks in the same river
The boat drowns but the man sinks in the same river

The boat was drowned but the man sank in the same river.

mooO m>»

Item (iv) tested the candidates’ ability to use English Language patterns and
vocabulary. From the alternatives, the candidates were supposed to understand
the meaning and uses of words sank and drowned. The word sank is the past
tense of sink which means to go down the surface of the river, especially for
an object like a boat or ship. Drowned is past tense of drown which means to
die because one has been underwater for too long, and one cannot breathe.

Option B, The man was drowned but the boat sank in the same river, was
correct. The candidates who chose this answer understood that a man can be
drowned in the river and a boat can sink. However, the vice versa cannot be
true.

Conversely, those who selected A, The man sank but the boat drowns in the
same river, failed to understand the proper use of the words sink and drown. A
man does not sink but drowns in the river, and a boat does not drown but
sinks. Moreover, those who chose C, the boat drowned but the man sinks in
the same river, were wrong. A boat cannot be drowned and man cannot sink.
Besides, there was no concord (tense and number relationship) in the main
verbs of the alternative.

Likewise, those who opted for D, The boat was drowned but the man sank in
the same river, selected an incorrect alternative. Although the tense was
correct, the expression was semantically incorrect. Furthermore, option E, The
boat was drowned but the man sank in the same river, was incorrect because it
was not semantically correct that the boat drowned and the man sank.



Item (v) asked:

(V) You have been asked to participate in debate with a topic “African
countries should stop from receiving grants from abroad.” As a
participant, how do you name the topic under discussion?

A Agenda B Program C Motion
D Issue E Argument

Item (v) tested the candidates’ ability to understand the components of a
debate. The candidates who chose C, motion, knew how debates are
conducted. The alternative was the correct answer because the title of a
debate is known as a motion.

In contrast, the candidates who selected A, agenda, did not know that an
agenda is a list of items to be discussed at a meeting, contrary to the motion
which is a topic to discuss in the debating session. Moreover, those who
chose B, program were unaware that a program is a set of instructions in
code that controls the functions of a computer. It is also a set of related
measures or activities with a particular long-term aim. Therefore, a program
is contrary to the motion, which is a topic under discussion in a debate
session.

The candidates who wrongly selected D, issue, did not know that an issue is
not a topic under discussion in a debate. It is a matter to be discussed by
people in a conversation and not a specific term, contrary to motion. A
motion denotes a specific topic of discussion in a debating session.

Furthermore, those who selected E, argument, did not know that an argument
is the conversation or discussion in which two or more people disagree often
angrily to win a disagreement. It is contrary to the motion as described
above.

Item (vi) was as follows:

(Vi)  When do you use salutations “Dear Sir/madam” in application letters?
When the recipient is your family member.

If you do not know the recipient.

If you know the recipient.

When the recipient is in the same town.

When the recipient is in a different town.

mgooO m@ >

Item (vi) tested the candidates’ knowledge of the components of an
application letter, particularly the use of salutations ‘Dear sir/madam’. The
correct answer to this item was B, If you do not know the recipient. The



candidates correctly chose B knew that ‘Dear Sir/madam’ is used when the
writer does not know the recipient.

Conversely, those who selected A, when the recipient is your family member
were wrong. They did not know that an application letter should always be
formal even though the recipient is a family member. Otherwise, one should
write a friendly letter.

Similarly, the alternative C, If you know the recipient was incorrect. The
candidates who opted for C did not know that one has to follow the
convention, even if the recipient is one’s relative.

The candidates who chose alternatives D and E which are when the recipient
is in the same town and when the recipient is in a different town
respectively, were wrong chose. The type of salutation to be used in an
application letter does not regard whether the recipient is in one’s own city
or another. The recipient can be anywhere.

Item (vii) stated:

(vii) Your teacher asks you to compose a fictional story by using literary devices
and skills. Which among the following is the literary name for the composed

story?
A Biography writing B Argumentative writing C Creative writing
D Non-creative writing E Autobiography writing

Item (vii) required the candidates to identify the literary name among the
given list that is used for a composed fictional story. The question aimed at
testing their ability to understand the types of writings.

Option C, creative writing was the correct answer. Those who selected it
were aware that creative writing is a type of writing which is characterised
by literary devices and skills. Conversely, those who chose A, biography
writing, were not aware that a biography is type of writing in which a person
expresses the life history of somebody else. Yet it does not involve literary
devices and skills.

Further analysis shows that the candidates who opted for B, argumentative
writing, did not know that argumentative writing is the conversation or
discussion in which two or more people disagree often angrily to win an
argument. Likewise, those who chose D, non-creative writing, were not
aware that non-creative type of writing does not use literary devices.
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Furthermore, those who chose E, autobiography writing, did not know that
the autobiography type of writing expresses the life history of a person
written by him/her. Nevertheless, it does not involve literary devices and
skills, while creative writing is characterised by literary devices and skills.

Item (viii) was as follows:

(viii) James and Ally were arguing on the importance of education. James
said ‘I think education is of no significance to all human beings.” What
does James’ argument based on?

A Fact B Wisdom C Suggestion
D Opinion E Observation

Item (viii) required the candidates to differentiate a fact from an opinion and
other concepts in the alternatives given. The question tested their ability to
differentiate the concepts.

The correct alternative was D, opinion. Therefore, the candidates who
selected option D were aware that an opinion is a statement that is based on
an individual’s ideas and views. On the other hand, those who chose A, fact,
were not aware that a fact is a true statement which does not change with
personal ideas or views. A fact can be proved with evidence.

Moreover, those who selected B, wisdom, failed to know that wisdom is not
among of forms of argument but is the ability to make sensible decisions and
give good advice. Therefore, it differs from opinions.

Likewise, those who picked C, suggestion, were not aware that it is not
among the forms of argument. A suggestion is an idea or plan that you
mention for somebody else to think about. Furthermore, those who chose E,
observation did not know that observation is an act or process of closely
monitoring something for a period of time, especially for learning.
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Item (ix) asked:

(ix)  Which list of elements is in the correct order of occurrence when you are

writing a Curriculum Vitae (CV)?

A Work experience, Referees, Hobbies, Personal details, Educational
background

B Educational background, Work experience, Personal details, Referees,
Hobbies.

C Hobbies, Educational background, Personal details, Work experience,
Referees

D Work experience, Educational background, Referees, Hobbies, Personal
details

E  Personal details, Educational background, Work experience, Hobbies,
referees.

Item (ix) tested the candidates’ ability to outline the correct item order of the
curriculum vitae (CV). The correct answer was E, personal details,
educational background, work experience, hobbies, referees. The candidates
who selected this item were knowledgeable about the correct items order in
Curriculum Vitae.

Conversely, those who chose A, Work experience, referees, hobbies, personal
details, educational background were wrong. They were not aware that work
experience cannot be the first on the list. Likewise, those who chose B,
Educational background, work experience, personal details referees, hobbies
did not know that someone’s educational background cannot precede other
elements on the list.

Additionally, those who selected C, Hobbies, educational background,
personal details, work experience, referees, and D, work experience,
educational back ground, referee, hobbies, personal details did not know that
someone’s hobbies and work experience cannot be the first elements on the
list.

Item (x) was:

(x) Suppose you have been asked by your teacher to give a speech about a
certain topic prior to make preparation. How do we call such improvised

speech?
A Classroom speeches B Impromptu speeches C Formal speeches
D Public speeches E Ceremonial speeches

Item (x) tested the candidates’ knowledge of a variety of speeches. The
correct response was B, Impromptu speeches. The candidates who chose it
12



were knowledgeable about the characteristics of an impromptu speech in
which a person delivers without predetermination or preparation. Hence,
option B, Impromptu speeches, was the correct answer.

The candidates who opted for A, classroom speeches, chose an incorrect
answer. They were not aware that classroom’s speech is delivered in the
classroom. Yet the speech must be prepared contrary to unprepared one.

Similarly, the candidates who selected C, formal speeches, did not know that a
formal speech is general. It is an official speech for formal matters; therefore,
one should prepare and rehearse it before delivering it.

Additionally, those who chose D, public speeches, were not aware that public
speeches are prepared and they are general. Moreover, those who chose E,
ceremonial speeches, were not aware that ceremonial speeches are delivered
in particular prepared ceremonies, and the speaker is prepared. The candidates
who scored high marks on this question provided the correct responses, as
shown in Extract 1.1.
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Extract 1.1: A Sample of the Correct Responses to Question 1

Conversely, the candidates who had inadequate knowledge of the concepts
and grammatical issues on Question 1 failed to select the correct responses to
any of the items, as shown in Extract 1.2.
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Extract 1.2: A Sample of the Incorrect Responses to Question 1
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Extract 1.2 shows that the candidate lacked knowledge and application skills
which could lead to the choice of the correct responses to items (i) — (x) of
the Question number 1. Therefore, the candidate scored 0 on this question.

2.1.2 Question 2: Matching Items

In this question, the candidates were instructed to match each sentence in List
A with its appropriate tense in List B by writing the correct letter beside the
corresponding item number in the answer booklet(s) provided. The question
tested the candidates’ knowledge of tenses. List A comprised five (5)

13



statements which describe events (sentences). List B comprised seven (7)
responses from which the candidates were to match with the descriptions.

The matching items were as follows:

List A List B
Q) I declare this exhibition open. A Future Progressive
(i) Juma has not been home since he was a boy. B Past Progressive

(iii)  Our new football coach is speaking to my brother.
(iv) 1 never met my grandparents.

(V) She was wondering if you could give her a lift.

C Present Progressive
D Simple Future

E Present Perfect

F  Simple Past

G Simple Present

H  Future Perfect

The question was attempted by 487,541 (100%) candidates. Among them
306,500 (62.9%) scored from 0 to 1 mark; 111,869 (23.0%) scored from 2 to
3 marks and 69,145 (14.2%) scored from 4 to 5 marks. Among the candidates
with weak performance, 170,411 (35%) scored 0. The general performance
of the candidates on the question was average, considering that 37.2 per cent
of the candidates scored an average of 30 per cent and above of all the marks
allotted to the question. The candidates’ performance is summarised in

Figure 2.
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Figure 2 : Candidates’ Performance on Question 2
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The candidates with a good performance on this question were 14.2 per
cent. They scored from 4 to 5 marks. Those who scored 4 marks matched
the sentences in List A with 4 correct tenses in List B, but they failed to do
so in one of the five items. The candidates who correctly matched all five
sentences with their tenses had adequate knowledge of the grammatical
rules and structures of the English language.

Item (i), | declare this exhibition open, required the candidates to match
with G, Simple Present. This correct response is the Simple Present Tense
because the object is made by the pronoun ‘I’ followed by the main verb
‘declare’ in infinitive form. Therefore, following the English Language
grammar, when a pronoun is in first person singular and is followed by an
infinitive form of the main verb, the tense of the particular expression
should be in the Simple Present. Thus, the candidates who correctly matched
this item were knowledgeable about the form of the Simple Present Tense.

Conversely, those who selected other premises were unaware of the forms
of the simple present. Those who chose A, future progressive were wrong.
Their response was incorrect because the future progressive is made by will
+ be + ing verb. This is contrary to the simple present which is made by
subject (singular or plural) + the infinitive form of the main verb; for
example, 1/we/they go and he/she/Jane goes.

Moreover, those who matched with B, Past Progressive, selected an
incorrect answer. This is because past progressive is made by an auxiliary
verb was/were + main verb in the ‘ing’ form, such as was/were going.
Additionally, option C, present progressive, was incorrect. This is because
the Present Progressive form is made by auxiliary verb am/is/are + ing
form of verb. For example, he is going/we are dancing/ | am listening.
Likewise, those who matched it with D were wrong because Simple Future
is made by auxiliary verb will + the infinitive form of a verb (will go).

Furthermore, those who matched with E, were wrong since, the Present
Perfect tense is made by auxiliary verb has/have + the present participle of
main verb. Additionally, those who matched it with F were unaware of the
structure of the Simple Past Tense, which is made by past form of the main
verb. Similarly, those who matched it with H, were wrong because Future
Perfect is made by auxiliary will/shall + have + the past participle; for
example, | shall have gone.

In item (ii), Juma has not been home since he was a boy, was correctly

matched with E, present perfect. The premise is in present perfect tense

because it is made by auxiliary verb has + past participle been. Thus, the
15



correct response to premise (ii) was E. Therefore, the candidates who
matched correctly this item had an adequate knowledge of the form of the
Present Perfect Tense.

Conversely, those who chose other alternatives were not knowledgeable
about the form of the Present Perfect Tense as follows:

Those who matched it with A, Future Progressive were wrong. This is
because the tense is made by auxiliary verb will +be + the ing form of a
verb; for example, He will be going to school. It is contrary to the Present
Perfect Tense which is made by auxiliary verb (has/have) + past participle
(been).

Additionally, those who chose B, were wrong because the Past Progressive
Tense is made by auxiliary verb was + the main verb in ing form. Likewise,
those who selected C, were unware that Present Progressive is made by an
auxiliary verb (am/is/are) + the ing form of verb.

Moreover, those who selected D, were wrong because the Simple Future is
made by auxiliary verb will + the infinitive form of a verb. In contrast, the
Present Perfect Tense is made by auxiliary verb (has/have) + past participle
(been). Similarly, the candidates who matched with F did not know that the
Simple Past Tense is made by the past form of the main verb.

Further analysis shows that the candidates who wrongly selected G did not
know that the Simple Present Tense is made by pronoun/noun + the
infinitive form of a verb. They were unware that the Present Perfect Tense is
made by auxiliary verb (has/have) + past participle (been). Likewise, the
candidates who selected H, were wrong because Future Perfect Time is
made by auxiliary verbs will/shall + have + past participle.

Item (iii), our new football coach is speaking to my brother was correctly
matched with C, Present Progressive. The candidates who correctly
matched this item were knowledgeable about the form of the Present
Progressive Tense which is formed by an auxiliary verb is/are + the ing
form of the main verb. Thus, the phrase is speaking which is formed by an
auxiliary is + verb speak which is inflected by the ing form, qualifies the
sentence as the Present Progressive Tense.

In contrast, other candidates chose other alternatives. These candidates were
not aware of the form of the Present Progressive Tense as follows:

The candidates who chose A, Future Progressive were wrong. This is
because the future progressive is formed by an auxiliary verb will +be +the
16



ing form of a verb. As noted above, the correct answer was the Present
Progressive Tense. Moreover, those who chose B did not know that the Past
Progressive Tense is made by an auxiliary verb was/were + the —ing form of
the main verb.

The option D, was also an incorrect answer because the Simple Future Tense
is made by auxiliary verb will + the infinitive form of the verb. Likewise,
those who chose E, were unaware that the Present Perfect Tense is made by
auxiliary verb has/have + the present participle form of the main verb.
Additionally, those who selected F were wrong as they were unaware that
the Simple Past Tense is made by the past form of the main verb.

Furthermore, those who selected G, were wrong because the Simple Present
Tense is made by a pronoun/noun + the infinitive form of a verb. Similarly,
those who chose H did not know that the future perfect time, not the Present
Progressive Tense, which is made by auxiliary will/shall + have+ past
participle.

Item (iv), | never met my grandparents was correctly matched with F,
Simple Past. The Simple Past Tense is made by the past form of the main
verb. Therefore, those who correctly matched the item with F, had adequate
knowledge of the form of the Simple Past Tense.

Conversely, the candidates who matched it with other alternatives were not
knowledgeable about the form of the Simple Past Tense. For example, those
who matched it with A, Future Progressive, chose an incorrect answer.
They did not know that Future Progressive Tense is made by auxiliary verb
will +be +the ing form of a verb. This is contrary to simple past which is
made by past form of main verb.

Those who matched it with B, did not know that the Past Progressive Tense
is made by auxiliary verb was/were + the main verb in the ing form.
Moreover, those who matched it with D, did not know that the Simple
Future Tense is made by auxiliary verb will + the infinitive form of a verb.

Furthermore, the candidates who matched it with E, present perfect were
wrong because the Present Perfect Tense is made by auxiliary verb has/have
+ the present participle form of main verb.

Another incorrect matching was G, simple present because the Simple
Present Tense is formed by a pronoun/noun + the infinitive form of a verb.
Furthermore, those who matched it with H, were wrong because the future
perfect time is formed by auxiliary will/shall + have + past participle.
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Item (v), she was wondering if you could give her a lift, is in the Past
Progressive Tense since it is made by an auxiliary verb (was) + the ing form
of the main verb (wondering). Thus, the correct response to the premise (v)
was B, past progressive. Therefore, the candidates who correctly matched
this item had an adequate knowledge of the form of the Past Progressive
Tense.

In contrast, those who matched it with other alternatives were not
knowledgeable about the form of the Past Progressive Tense. For example,
those who matched it with A, Future Progressive Tense were wrong. They
did not know that the Future Progressive Tense is made by auxiliary verb
will +be + ing form of a verb. Those who matched it with C, were also
wrong. They failed to differentiate the Past Progressive Tense from the
Present Progressive Tense. The latter is made by auxiliary verb am/is/are +
the -ing form of verb while the former is made by auxiliary verb was/were +
the main verb in ing form.

Further analysis shows that the candidates who matched it with D, were
unaware that the Simple Future Time is made by auxiliary verb will + the
infinitive form of a verb. They did not know that the correct answer was the
Past Progressive Tense which is formed by auxiliary verbs was/were + the
main verb inflected with ing. Likewise, those who selected E, were wrong.
They chose the answer Present Perfect; nevertheless, it is made by auxiliary
verb has/have + the present participle of the main verb.

Moreover, those who matched it with F, did not know that the Simple Past
Tense is made by past form of the main verb. Likewise, those who matched
it with G, were wrong because the Simple Present Tense is formed by a
pronoun/noun + infinite form of a verb. Additionally, the candidates who
matched it with H, were wrong. The future perfect is formed by auxiliary
will/shall + have + past participle. Those with good performance on this
question provided correct responses, as shown in Extract 2.1.
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Extract 2.1: A Sample of the Correct Responses to Question 2

Further analysis indicates that 23.0 per cent of the candidates scored from 2
to 3 marks because they were unfamiliar with some of the tenses. This
resulted in the provision of correct responses to only 2 out of 5 items. This
indicates that they had partial knowledge of tenses.
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2.2

Conversely, 136,089 (1%) candidates scored 1 mark on this question. They
managed to match only one sentence in List A with an appropriate tense in
List B. Hence, they failed to match other sentences with their correct tenses.
On the contrary, 170,411 (35.0%) candidates scored O as they failed to
match correctly the descriptions in List A with tenses in List B. Extract 2.2
is a sample of the correct response to the question.
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Extract 2.2: A Sample of Incorrect Response to Question 2

In Extract 2.2, the candidate lacked knowledge of the tenses in the English
Language. Therefore; he/she incorrectly matched the items in the question.

SECTION B: Short Answer Questions

This section consisted of six (6) compulsory questions: 3, 4, 5, 6, 7 and 8.
Questions 3 and 4 weighed 4 marks each while questions 5, 6, 7 and 8
weighed 8 marks each. The whole section therefore, had a total of 40 marks.

2.2.1 Question 3: Making Reservation

The question required the candidates to make reservations using the
telephone for their journey from Dar e salaam to Dodoma. They were
supposed to write answers using the given question guides. The question
tested the candidates’ ability to make reservations through the telephone.
The question was as follows:

3. Assume that you want to travel from Dar es Salaam to Dodoma. How
would you make a reservation for your journey using telephone?
Write your answers using the given question guides in (i) - (iv).

(i) How would you introduce yourself?

(i) How would you give the message?

(iii) How would ask for the bus fare?

(iv) How would you ask for the reporting time?

The question was attempted by 487,541 (100%) candidates, out of which

354,816 (72.8%) scored from 0 to 1 mark; 55,462 (11.4%) scored 2 marks

and 77,263 (15.8%) scored from 3 to 4 marks. Among the candidates with

weak performance, 276,353 (56.7%) scored 0. The candidates’ general

performance on the question was average, considering that 37.2 per cent
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of the candidates scored an average of 30 per cent and above all the marks
allotted to the question. The performance of the candidates is summarised
in Figure 3.
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Figure 3: Candidates’ Performance on Question 3

Analysis indicates that 354,816 (72.8%) candidates who scored from 0 to
1 mark lacked adequate skills in making reservations by phone. They
failed to introduce themselves in responding to item guide (i), how would
you introduce yourself? For example, one of them wrote yourself is
introducing my aunt. Another one responded by writing yes introduce
yourself. Hence, the candidates lacked adequate knowledge and skills
about self-introduction in the English Language.

Moreover, the candidates provided incorrect responses to item (ii), how
would you give the message? They lacked skills in delivering the message
in making a reservation. Some candidates copied the guiding questions as
responses. Other candidates wrote elements of a memorandum, which are
from, to, date, message and signature, without filling anything to those
elements. Additionally, others wrote ungrammatical sentences. For
example, one of them wrote | would give the message to information the
telephone. The failure to deliver the message appropriately could be
attributed to insufficient vocabulary and poor proficiency in the English
Language. Therefore, they constructed ungrammatical sentences.

Further analysis indicates that the candidates failed to respond correctly to
item guide (iii), how would you ask for the bus fare? In this item, the
candidates were supposed to ask for the bus fare. For example, how much
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is the fare? However, these candidates failed to respond as required. Yet,
other candidates wrote incorrect responses. For instance, one of them
wrote, Give the money to bus conductor. Another candidate wrote my
father to give me the bus fare. Besides, there were candidates who listed
the bus company names and the fare for example, one of them wrote
Abood bus company is 8000/= to Dodoma. Another candidate wrote the
fare of Ngorika bus to 15,000/=. The candidates in this group did not
address the requirement of the question.

Furthermore, the candidates failed to address appropriately item (iv), how
would you ask for the reporting time? The candidates were required to ask
for the reporting time from the reservation made. The analysis shows that
they had insufficient knowledge of expressing themselves in the English
language. For example, one candidate wrote, to write time which object
received. Another one wrote, my time is reporting ask. Extracts 3.1 and
3.2 are illustration.
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Extract 3.1: A Sample of the Incorrect Response to Question 3

In Extract 3.1, the candidate used ungrammatical sentences in all items.
He/she failed to make a reservation by telephone. Extract 3.2 shows
another misconception from one of these candidates.
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Extract 3.2: A Sample of an Incorrect Response to Question 3

In Extract 3.2, the candidate wrote a telephone message instead of making
a reservation, contrary to the requirement of the question.
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Conversely, the candidates who scored high marks in this question
(15.8%) demonstrated the ability to make reservations by telephone.
Higher marks ranged from 3 to 4 marks. The candidates who scored 3
marks on this question correctly made reservations by using 3 out 4 of the
guidelines provided. Those who scored 4 marks correctly responded
following the guidelines and created meaningful conversations.

Analysis shows that the candidates with good performance were able to
introduce themselves. A self-introduction should contain one’s name and
key facts that will help the speaker make an impression on the person they
are speaking to. Therefore, in responding to item (i), how would you
introduce yourself, they correctly made self-introductions. For example,
one of the self-introductions was Hello! I am Max from Dar es Salaam; |
hope that is Abood Bus Service.

Moreover, the candidates responded correctly to item (ii), how would you
give the message? Those who did well in this item understood and
correctly responded according to the demand of the question. They
delivered messages to reserve seats in a bus from Dar es Salaam to
Dodoma. For example, one of the message was | would like to reserve a
seat from Dar es salaam to Dodoma next week, can | have a seat reserved
for me?

Additionally, item (iii) asked, how would you ask for the bus fare? These
candidates item responded correctly to the item in this item. The
candidates who correctly understood the demand of the question asked for
the bus fare as required. Examples of the responses are Excuse me, can |
know the fare for my journey? and How much is the fare?

Furthermore, the candidates answered correctly item (iv), How would you
ask for the reporting time? They understood the demand of question and
responded correctly by asking time to report. Examples of the questions
are at what time should | report at the Bus stop? What is the reporting
time? as illustrated in Extract 3.3.
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Extract 3.3: A Sample of the Correct Response to Question 3

Extract 3.3 shows that the candidate correctly made a reservation by using
a telephone. The candidate correctly introduced himself/herself by using
appropriate expressions in item (i). The candidate then made a reservation
appropriately including providing sufficient information like the date of
the journey in item (ii). Furthermore, the candidate correctly asked for the
bus fare from Dar es Salaam to Dodoma as required in item (iii). Lastly,
he/she correctly asked for the reporting time in item (iv).

Further analysis shows that, 55,462 (11.4%) candidates who scored
average marks managed to construct 2 sentences to make reservations
following the logical sequence. However, these candidates failed to
complete making reservations per the guidelines since they had
insufficient knowledge of making reservations.

QUESTION 4: Using Prefixes and Suffixes to Change Meaning

The candidates were instructed to change the meaning of words in items
(i) - (iv) by adding a prefix or suffix according to the instructions given in
each item. The question tested the candidates’ knowledge of vocabulary.

The question was attempted by 487,541 (100%) candidates, out of which
478,106 (98 %) scored from 0 to 1 mark; 8,699 (1.8%) scored 2 marks and
736 (0.2%) scored from 3 to 4 marks. Among those with weak
performance, 454,289 (93.2%) scored 0. The general performance of the
candidates in the question was weak, considering that only 2 per cent of
the candidates scored an average of 30 per cent or above of the marks
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allotted to the question. The performance of the candidates is summarised
in Table 3.

Table 3: Candidates’ Performance on Question 4

Scores Num!oer of Percentage
candidates
0-1 478,106 98
2 8,699 1.8
3-4 736 0.2

The question was as follows:

Change the meaning of words in item (i)-(iv) by adding a prefix or
suffix according to instructions given after each.

(i)  ‘refine’to mean ‘a place of activity’

(i)  fire’ to mean ‘wrongly or astray’

(iii)  ‘mud’ o mean ‘covered with’

(iv) ‘check’to mean ‘in opposition to or against’

Analysis shows that 478,106 (98%) candidates with weak performance
were not knowledgeable about the use of prefixes and suffixes. Therefore,
they provided incorrect responses. For example, in item (i), some of them
added a suffix — ed at the end of the word refine instead of a suffix — ry.
Other candidates also added the suffix -s to form refines. Yet, others
defined the word refine, contrary to the requirement of the question. For
example, one of them wrongly defined it as a place where industry is
found. Another candidate defined it as an action of refining.

Moreover, the candidates incorrectly answered item (ii). Some of them
provided incorrect suffixes and prefixes. For example, the word fire was
inflected by the suffix — ment to have the word firement. The word
firement was an incorrect English word. The candidates were instructed to
add a suffix which changes the word fire to mean wrongly or astray.
Additionally, some of them underlined the word fire as a response while
others skipped the item.

In item (iii), the candidates manifested their inability to comprehend the
appropriate suffix or prefix for the word ‘mud’ to mean ‘covered with
mud’. Thus, some of them separated the word by using dash (-) to have
mu-d, m-ud and m-u-d. Evidently, they lacked knowledge of prefixes and
suffixes. Other candidates also added the suffix — ism to form the word
muddism. Others added the prefix in- to have the word inmud, contrary to
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the requirement of the question. Further analysis shows that some of them
constructed sentences by using the word mud instead of adding the suffix

Furthermore, the candidates incorrectly responded to item (iv). The word
‘check’ required them to add a prefix to mean ‘in opposition to or against’.
However, they incorrectly answered it. Some of these candidates added
the suffix —ing to form checking, while others added the prefix in- to form
incheck. Other candidates added ‘not’ to have a word ‘not check’.
Likewise, other candidates constructed sentences by using the word check
contrary to the requirement of the question. Extracts 4.1 and 4.2 are
examples of such responses to Question 4.
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Extract 4.1: A Sample of the Incorrect Response to Question 4

Extract 4.1 shows that the candidate incorrectly wrote definite and
indefinite articles before the provided words. The articles the and a were
used contrary to the requirement of the question.
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Extract 4.2: A Sample of Incorrect Response to Question 4

In Extract 4.2, the candidate wrongly re-arranged the words in the question
by writing the phrase to mean at the end of each sentence. This candidate
lacked knowledge of prefixes and suffixes in the English language.

Further analysis shows that the 8,699 candidates (1.8%) who scored
average marks managed to add 2 out of 4 prefixes or suffixes. This
indicates that they had some knowledge of using prefixes and suffixes for
different contexts.

Conversely, the 736 candidates (0.2%) with good performance managed to
change the meaning of words by adding a prefix or a suffix appropriately.
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In item (i), they were aware that the -ry suffix forms nouns. The suffix
indicates a place of business or some other activity, such as, bakery and
brewery. It also shows a class or collection of things, such as cutlery and
greenery. Additionally, it indicates qualities or actions collectively, for
example snobbery and trickery. Therefore, they managed to change the
meaning of the word refine to mean ‘a place of activity’ by adding the
suffix —ry to form a word refinery.

In item (ii), they provided the correct answer, which was misfire. These
candidates had adequate knowledge of English prefixes. They were aware
that the meaning of the word fire can be changed to mean ‘wrongly or
astray’ by adding the prefix mis-. Once added to the root/stem of a word,
this prefix changes the word to mean wrongly, mistake or false. For
example, the prefix mis- can be added to words fortune, conception and
adventure to form misfortune, misconception and misadventure,
respectively. Hence, the candidates correctly changed the word fire to
misfire, as required by the question.

Moreover, the candidates correctly answered item (iii). They were aware
that the suffix —y in the English language is attached to adjectives to mean
“characterized by or inclined to” the substance or action of the word or
stem to which the suffix is attached. For example, the words to which this
suffix has been attached are juicy, grouchy and dreamy. The candidates
were required to change the word mud by using suffix —y to mean ‘covered
with mud’. Therefore, they correctly changed the word mud to muddy
because they had adequate knowledge of suffixes in the English language.

Furthermore, the candidates correctly addressed item (iv). The word check
was to be added with prefix counter- to mean “in opposition to or against”.
Analysis shows that the candidates correctly changed the word check to
counter check, following the requirement of the question. Extract 4.3 is
illustrative.
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Extract 4.3: A Sample of Incorrect Response to Question 4
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2.2.3

QUESTION 5: Constructing Sentences to Show Actions

This question required the candidates to construct 4 sentences to show
actions by using the given guidelines. The question tested their ability to
construct sentences by using tenses.

The question was as follows:

Construct one sentence to show actions by using each of the given
guidelines.

(i)  An action that was frequently repeated in the past.

(i)  Two actions which are in progress at the moment of speaking.
(iii) An action that was in progress in the past.

(iv) Two actions which were in progress at the same time in the past.

The question was attempted by 487,541 (100%) candidates. Among them,
430,621 (88.3 %) scored from 0 to 2 marks; 24,676 (5.1%) scored from 3
to 5 marks and 32,244 (6.6%) scored from 6 to 8 marks. Among the
candidates with weak performance, 387,332 (79.4%) scored 0. The general
performance of the candidates on the question was weak, considering that
11.7% scored an average of 30% or above of the marks allotted to the
question. The performance of the candidates is summarised in Figure 4.
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Figure 4: Candidates’ Performance on Question 5

The analysis reveals that 430,621 (88.3%) candidates with weak
performance on this question exhibited several weaknesses. Those who
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scored 2 marks had limited knowledge of how different tenses are
expressed in sentences. However, they correctly constructed 1 out of the 4
sentences required. Moreover, those who scored 0 had inadequate skills in
showing actions by using appropriate tenses. Consequently, they failed to
provide correct responses to any of the items.

Item (i) required the candidate to construct a sentence which shows an
action that was frequently repeated in the past. The action must be the Past
Perfect Progressive Tense to signify a frequently repeated action in the
past. The tense is formed with auxiliary* verbs had + been and the -ing
form of a verb. Therefore, to construct grammatically correct sentences, the
candidates were supposed to use the structure had + been + ing. For
example, He had been stealing in the shop. Additionally, the sentence can
include an adverb of time; for example Angela had been phoning Ali every
night for the past seven days.

Analysis shows that the candidates who failed to address this item did not
understand the correct form of the Past Perfect Progressive Tense. Some of
these candidates constructed sentences which showed completed actions in
the past. For instance, one of them wrote, My father had written a letter.
These candidates were unaware that auxiliary had + ed/en pp leads to a
construction of a completed action in the past.

Moreover, another group of candidates formed sentences which show
actions which began before something else had happened. This was evident
through the structures was + ing + conjunctions like when, just or while.
Thus, the sentence like we were playing football when the teacher came
was evident. Another example from these candidates was | met my friend
when | was living in Mbeya. The challenge to these candidates was not the
construction of grammatical sentences rather it was creating sentences
which show frequently repeated actions in the past.

Furthermore, analysis reveals that some candidates constructed sentences
which showed present habitual actions. The candidates used the Simple
Present Tense to construct the sentences. For example, she plays netball
every day. Likewise, other candidates constructed sentences which showed
continuous (progressive) actions. For example, John is cleaning the car.
The candidates in this category formed sentences with the auxiliary verb

1 An auxiliary verb is a verb that adds functional or grammatical meaning to the clause in which it
occurs, so as to express tense, aspect, modality, voice and emphasis. Auxiliary verbs usually
accompany an infinitive verb or a participle, which respectively provide the main semantic content
of the clause. An auxiliary verb helps the main verb and is also called a "helping verb."
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is/are + ing. Another example sentence by these candidates was They are
eating some food.

Further analysis shows that some candidates who copied the guideline for
the item and used it as answers while others skipped the item. Additionally,
some of the candidates analysed the guidelines by indicating words into
classes for example, an = article, repeated = verb and in = preposition,
contrary to the requirement of the question.

Item (ii) required the candidates to construct sentence which show two
actions in progress at the moment of speaking. Two actions in progress at
the moment of speaking denote the application of the Present Progressive
Tense. This tense is formed with the verb to be is /are/am + the ing
participle. For example, He is talking to a stranger, and she is cooking
some food. From the examples provided, two actions are talking and
cooking. Both actions are inflected with the —ing participle to signify
continuity of actions. To add more, the verbs talking and cooking are
preceded by the auxiliary verb is, which is in the Present Tense. Moreover,
auxiliary verbs which form the Present Progressive Tense can be plural are
or singular is.

The candidates who failed on this item lacked adequate knowledge of the
Present Progressive Tense. They constructed sentences which did not show
two actions which were in progress at the moment of speaking. Some
candidates created sentences that expressed habits or general truths. For
examples the sun sets in the west; John plays football every day and Water
boils at 100°. The created sentences are in the Simple Present Tense and
not in the Present Progressive Tense as instructed. The candidates in this
category managed to construct grammatically correct sentences. However,
they failed to address to the requirement of the question.

Moreover, some of the candidates made sentences which showed actions
that had started and finished at a specific time in the past. The actions were
formed using the Simple Past Tense. This tense also shows that one is
talking about something that has already happened. One can also use the
simple past in a sentence without specifying a time, but it must have
previously been made clear that the speaker is referring to a finished
period. Therefore, the candidates who used the simple present tense lacked
this knowledge. They constructed sentences such as Jane washed her
clothes; Mariam cooked some food and He walked home.

Furthermore, some candidates made sentences that express actions that
started at some time in the past and were still continuing at the present
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moment of speaking. In forming these actions, one often uses the present
perfect tense. The words for (with a length or period of time) and since
(with a specific starting time) are usually used with the present perfect
tense. For example, one candidate wrote, He has lived in Tanga for five
years. Other examples are she has completed her homework; they have
eaten my food and my father has cut down the tree.

Another weakness exposed by the candidates with weak performance on
this item was lack of knowledge of English tenses and grammar. They
constructed ungrammatical expressions, such as in progress repeated at
wrongly the action. Moreover, some of them copied instructions from other
questions as responses. This also showed their lack of knowledge of tenses.
Additionally, some of them skipped item (ii) because they did not
comprehend it.

Item (iii) required them to construct sentences which show an action that
was in progress in the past. An action that was continuing in the past is in
the Past Progressive Tense. The tense is formed with auxiliary verb
was/were + the ing participle. For example, Ahmed was playing football
last week. Therefore, the candidates were required to have the knowledge
of how the Past Progressive Tense is formed so as to construct the
sentences as instructed.

Analysis shows that the candidates who failed to address this item were not
conversant with the form of the Past Progressive Tense. They made
sentences which did not show that were continuing in the past actions.
Some of these candidates made sentences in the Simple Past Tense. They
did not know that the tense is used to talk about events, actions or situations
which occurred in the past and were then finished. Similarly, the tense is
used for actions that started and finished at a specific time in the past. It is
also possible to use the simple past in a sentence without specifying the
time, but it must have previously been made clear that the speaker is
referring to a finished period. Therefore, due to the lack of this knowledge
the candidates made sentences such as We arrived at school; She kicked the
ball and They smiled at me.

Likewise, some candidates made sentences by using the present
progressive tense. They were unaware that the tense is used when we talk
about something which is happening now (actions happening at the
moment of speaking). It is also called the present continuous tense. The
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present progressive is formed with the verb BE? followed by the present
participle. This is the structure: Subject + BE + (verb + ing). Therefore, the
candidates made sentences like Peter is reading a book; She is listening to
the radio and They are playing football.

Furthermore, some candidates made sentences by using the past perfect
tense. The tense is formed by the structure had + the past participle of the
main verb. The candidates created sentences such as We had eaten some
food; Kapipi had seen it before and It had rained heavily last night. Those
sentences are examples of many others these candidates created. Hence,
they lacked knowledge of the past progressive tense in English.

Moreover, other candidates made sentences which showed future/expected
actions, instead of actions which were in progress in the past. They used the
auxiliary verbs will/shall and the verb phrase going-to in their sentences.
These candidates made sentences which denote future time, such as we
shall pass our examinations; | am going to be a politician and We will eat
our food in the evening.

Further analysis shows that some candidates constructed sentences which
express habits or general truths using the simple present tense. For
example, Janet smokes cigarettes (shows habit) and The sun rises in the
east (general truth). These candidates lacked skills in forming sentences
which show actions which were in progress in the past.

Similarly, there were candidates who skipped the item while others wrote
ungrammatical sentences. Examples of the ungrammatical construction are
at arrived Magomeni he is very happy; an action is parent for past
sentence and you are sentences to my progress guidelines. This is because
these candidates lacked knowledge about English tenses.

Item (iv) required the candidates to construct sentences which show two
actions which were in progress at the same time in the past. Hence, it
required them to use the past progressive tense. This tense is formed with
auxiliary verb was/were + the ing participle.

Consequently, the candidates were supposed to have the knowledge of
forming the Past Progressive Tense in order to construct the sentences.
Examples sentences showing two past progressive actions are James was

> Verb ‘BE’ is used to describe or tell us the condition of people, things, places and ideas. For
example, they could tell us the subject's age, nationality, job or other traits. To-be verbs are am, are
is, was, were, been and being.
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working in the garden while listening to the radio; They were playing
volleyball and Aisha was cooking some food and She was sweeping the
floor while He was cleaning the windows. In the first sentence, the two
actions are working and listening. In the second sentence the actions are
playing and cooking while in the third sentence, the actions are sweeping
and cleaning. All these actions (main verbs) are preceded by auxiliary
verbs ‘was’ and ‘were’ to reflect the structure of the past progressive tense
which shows a past continuous action.

Analysis shows that the candidates who failed to construct the sentences
following the instructions demonstrated weaknesses. Some candidates
made sentences by using the simple past tense. Examples of the created
sentences are she washed her clothes; Mwakifamba drove a car and Jane
wrote a letter. Although, they managed to make grammatical sentences,
they did not adhere to the requirement of the item. Therefore, they failed to
attain marks on this item. They failed to make sentences which show two
actions in progress in the past. They were obliged to construct sentences
which are formed with auxiliary verb was/were + the ing participle.

Moreover, analysis shows that another cause of incorrect responses these
candidates was their failure to understand the requirement of item (iv).
Evidently, they used the Present Progressive Tense instead of the required
past progressive tense. The latter is formed with the verb BE followed by a
present participle, illustrated as Subject + BE + (verb + ing). Therefore, the
candidates constructed sentences such as Students are singing songs;
Yanga is playing against Simba and They are searching for it.

Furthermore, another misconception observed from the candidates’
responses is in their use of the Past Perfect Tense. This tense is formed by
the structure had + the past participle of the main verb. The tense is used to
show an action that is complete, finished or perfected. Nevertheless, the
candidates used the tense to respond item (iv) instead of using the past
perfect tense, as required.

Additionally, analysis revealed that some candidates made sentences by
using the Simple Present Tense. They wrongly made sentences such as
Juma plays football every day; She washes her dishes and They worship to
God every day. These candidates were not aware that the sentences they
created showed habits not two past progressive actions.

Another group of candidates who failed to address this item made

sentences which expressed future time contrary to the instruction. They

used auxiliary verbs will/shall and the phrase going-to in their sentences.
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These candidates made sentences which signify future time, such as We
shall sing to the Lord; I will play football in the evening and Ali is going to
break it.

Further analysis indicates that some candidates copied the item, while
others copied the instruction of the question as their response. A few of
them skipped the item. Evidently, they lacked of knowledge and skills in
expressing the Past Progressive Tense. Extract 5.1 is illustrative.
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Extract 5.1: A Sample of Incorrect Responses to Question 5

In Extract 5.1, the candidate failed to construct sentences showing different
actions as required, hence he/she wrote ungrammatical sentences.

On the contrary, the 6.6 per cent of the candidates with good performance
on this question scored from 6 to 8 marks. Those who scored 6 marks
managed to construct 3 correct sentences following the provided
guidelines. Those who scored 8 marks correctly constructed all the
sentences required. These candidates made sentences showing actions that
were frequently repeated in the past in item (i). They used the past perfect
progressive tense to accomplish this task.

Moreover, in item (ii), they constructed sentences expressing two actions
which were in progress at the moment of speaking. They were aware that,
to achieve the task, they had to use the Present Progressive Tense.
Furthermore, in item (iii), they correctly constructed sentences showing
actions that were in progress in the past. They used the past progressive
tense to accomplish the task. In item (iv), they created sentences showing
two actions which were in progress at the same time in the past. They were
aware that, to make sentences as instructed, they had to use the past
progressive tense as shown in Extract 5.2.
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Extract 5.2: A Sample of Correct response to Question 5

2.24  QUESTION 6: Re-writing Sentences in Possessive Case

The candidates were required to rewrite the given sentences to show
possessive case. The sentences were as follows:

(i)  Thatis a foot length.

(i)  We saw the butcher shop.

(iii) A student at Tegeta Girls Secondary School.
(iv)  She works at Ladies beauty salon.

(v)  Please do it, for goodness sake!

(vi) I hate a duty call.

(vii) He was the president at teachers trade union.
(viii) It is a day match.

The question tested the candidates’ ability to express ownership.

All the 487,541 (100%) candidates attempted the question. Among them,
473,417 (97.1 %) scored from 0 to 2 marks; 7,340 (1.5%) scored from 3 to
5 marks and 6,784 (1.4%) scored from 6 to 8 marks. Of the candidates with
weak performance, 467,011 (95.8%) scored 0. The candidates’ general
performance on the question was weak, since only 2.9 per cent scored an
average of 30 per cent or above all the marks allotted to the question. The
overall performance of the candidates on this question is summarised in
Figure 5.
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Figure 5: Percentages of the Candidates’ Performance on Question 6

Analysis shows that 97.1 per cent of the candidates whose performance
was weak failed to show the possessive case from the given sentences. Item
(i) required the candidates to add the S genitive® to the word foot to signify
possessive case in the sentence. Therefore, the correct answer was That is a
foot’s length.

Analysis shows that some candidates incorrectly attached the s genitive to
words such as length while others attached it to the demonstrative that.
Therefore, they created ungrammatical sentences. Examples include That is
a foot lengths and Thats is a foot length. These responses are contrary to
the requirement of the question.

Additionally, analysis shows that other candidates changed some words in
the given sentence by pluralising them. The pluralised words were foot to
feet and length to lengths. Therefore, the created sentences were; That is
feet length; That is feet lengths; That are feet lengths and That is foot
lengths. These candidates lacked knowledge of possessive case of nouns in
the English language. Hence, they resort scored 0.

Moreover, other candidates changed the given sentence into questions.
They formed questions by adding the question mark. Hence, the sentence

* The s-genitive is used to express a possessive relation between two objects. For example, the
sentence: ‘This is my friend's book’, expresses the idea that a book belongs to your friend.
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read; Is that a foot length? Yet, other candidates skipped the item because
they lacked knowledge of the possessive case.

Item (ii) required the candidates to place an apostrophe (') before the s
genitive after the word butcher to indicate possession in the sentence. Thus,
the sentence should read, We saw the butcher’s shop. The candidates who
failed to address this item did not understand the proper place to put the
possessive (s). There were also candidates who re-arranged the occurrence
of the words in the sentence. Examples of the re-arranged words are we
saw the shop butcher; the butcher shop we saw and we the butcher shop.
This is contrary to the demand of the question; they were supposed to show
the possessive case.

Moreover, the candidates misplaced the apostrophe. Some candidates
placed the apostrophe on the word saw, while others placed it on the word
shop. Therefore, they created ungrammatical sentences such as we saw’s
the butcher shop and we saw the butcher shop’s. Furthermore, other
candidates copied the sentence as their responses, while others skipped the
item.

Item (iii) contained the sentence A student at Tegeta Girls Secondary
School. In this item, the possessive case was supposed to be indicated on
the word girls. Accordingly, an apostrophe had to be attached to s for
plurality. Therefore, the correct sentence was A student at Tegeta Girls’
Secondary School.

Analysis shows that the candidates who failed to address this item
demonstrated several weaknesses. Some candidates changed the sentence
into negative. Examples are A student is not at Tegeta Girls Secondary
School; A girl does not study at Tegeta Secondary School and She is not a
girl at Tegeta Secondary School. These candidates misinterpreted the
requirement of the question. Hence, they formed negative sentences instead
of indicating possessive case.

Other candidates misplaced the apostrophe. They attached the apostrophe
to words student, Tegeta and school. Yet, others placed the apostrophe on
the word shop. Thus, they created ungrammatical sentences such as we
saw’s the butcher shop and we saw the butcher shop’s.

In item (iv), the apostrophe was supposed to be at the end of word ladies,
without adding the letter s so as to mark possession. Thus, the sentence
should read, She works at Ladies’ beauty salon. The possessive case for
plural nouns ending with letter s such as boys, workers and teachers are not
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inflected with‘s’. Those nouns are attached only with apostrophes to mark
possession.

Analysis shows that candidates who failed to answer this item did not know
how to indicate possession in plural nouns that end with an s. Therefore,
the candidates who performed poorly on this item manifested several
weaknesses. For example, some of them changed the tense of the sentence
in the item to the Past and Present Progressive. Thus, the created sentences
were She worked at Ladies salon and she is working at Ladies salon, which
is contrary to the requirement of the question.

Moreover, other candidates inappropriately attached letter s and the
apostrophe to the words beauty and salon. These candidates lacked
knowledge that the words beauty and salon are inflected to mark
possession based on the context of the sentence. They made sentences such
as she works at Ladies beauty’s salon and she works at Ladies beauty
salon’s.

Additionally, some of the candidates misinterpreted the requirement of the
question. These candidates wrote responses that did not address the demand
of the question. For example, some candidates supplied tag questions to the
sentence, such as does she? Doesn’t she? Don’t she? Other candidates
underlined the words she and at, whereas some of the candidates
underlined the words ladies, beauty and salon. The candidates were
instructed to re-write the given sentences in the possessive case using an
apostrophe and not underlining the words.

In item (V) contained the sentence Please do it, for goodness sake! In this
item an apostrophe was supposed to be attached at the end the of the word
goodness to indicate possession. The word goodness ends with letters ‘ss’.
Thus, to mark possession one needs to attach only an apostrophe without
adding another ‘s’. Therefore, the sentence was supposed to be re written as
Please do it, for goodness’ sake!

The candidates who failed to answer this item demonstrated some
challenges. For example, some of the candidates added letter s after the
words do, it and sake. Therefore, the re-written sentences read as please do
it, for goodness sakes; please does it, for goodness sake and please do its
for goodness sake. The created sentences did not follow the rules of the
English language, especially concerning marking possession on the words
ending with letters ‘ss’.
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Another group of the candidates misinterpreted the requirement of the
question. These candidates removed some letters from the word goodness.
For example, some of them removed the letter s while others removed both
ss. Yet, there were those who removed the suffix —ness. The re-written
sentences after the removal of the mentioned letters were please do it, for
goodnes sake; please do it, for goodness sake and please do it for good
sake. These candidates removed the letters as a way of expressing
possession as opposed to the requirement of the question.

Further analysis shows that the candidates wrongly reproduced the same
sentence as given in the item. Some of them did so by capitalising all
words, whereas others capitalised some words. However, they did not
attach the apostrophe to mark possession, as required by the question.
Examples of the created sentences were PLEASE DO IT, FOR GOODNESS
SAKE!; Please DO it, for GOODNESS sake!; PLEASE do IT, for goodness
sake!

Another reason for the failure of the candidates to address this item was
overgeneralisation of possessive case marking. In the English language,
most nouns are inflected with an apostrophe proceeded by letter s to show
possession. For example, the nouns boy, girl and president follow the
mentioned rule. Therefore, to mark possession in those nouns one should
attach an apostrophe followed by letter s to form boy’s, girl’s and
president’s. Consequently, the candidates generalized the rule to all words
intending to mark possession, as they attached an apostrophe and ‘s’ to the
word goodness. After being re-written, the sentence read, please do it, for
goodness’s sake!

Item (vi) contained the sentence | hate a duty call. In this item, an
apostrophe was supposed to be attached at the end of the word duty
followed by letter s to mark possession. The correct sentence showing
possession after being attached with an apostrophe was 1 hate duty’s call.

Analysis shows that the candidates who failed to address this item did not
understand the requirement of item (vi). These candidates wrote responses
that were contrary to the demands of the item. For example, some
candidates supplied tag questions to the sentence such as isn 't it? , doesn’t?
and didn’t they? Another misconception was seen among the candidates
who added question marks, while others added exclamation marks at the
end of the given sentence. Hence, they wrongly wrote sentences such as |
hate duty’s call? and I hate duty’s call!
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Moreover, others incorrectly attached an apostrophe to the words hate and
call. They were knowledgeable about the possessive case, but they failed to
appropriately attach the apostrophe and letter s to mark possession. Thus,
they wrongly wrote sentences such as 7 hate duty call’s and I hate’s duty
call. Furthermore, another group of candidates attached letter s to the words
hate, duty and call without an apostrophe. Therefore, they constructed
sentences such as | hates duty call; | hate dutys call and | hate duty calls.

Item (vii) contained the sentence He was the president at teachers trade
union. The item required the candidates to rewrite the sentence correctly to
show possessive case. Accordingly, the word teachers had to be attached
with an apostrophe for the sentence to read He was the president at
teachers’ trade union.

Those who failed to address this item exhibited some weaknesses. One of
the demonstrated weaknesses was a lack of skills in attaching apostrophes
to words. Evidently, some of the candidates inappropriately attached
apostrophes and letter s to the words president, union and trade. Thus, the
created ill-formed sentences were He was the president’s at teachers trade
union; He was the president at teachers trade’s union and He was the
president at teachers trade union’s. These candidates were knowledgeable
about apostrophes, but they failed to attach them appropriately according to
the context of the given sentence.

Another reason for the failure of some candidates to provide the correct
answer was their lack of knowledge of apostrophes. This was evident
through the candidates whose responses were incorrectly attached with ‘s’.
The candidates provided incorrect answer as they added letter ‘s’ to words
president, trade and union so as mark plurality. Thus, they aimed at making
the sentence plural instead of marking possession. Examples of the created
sentences after addition of s were He was the presidents at teachers trade
union; He was the presidents at teachers trade unions and He was the
president at teachers trades unions.

Additionally, most candidates failed because they misinterpreted the
requirement of the question. These candidates changed the given sentence
into negative using negation markers, namely not and never. Hence, they
created negative sentences, instead of marking possession. Examples of the
wrongly created sentences were He was not the president at teachers trade
union and He was never the president at teachers union.

Furthermore, another group of the candidates changed the tense of the

sentence in item (vii). Some of them changed it to present progressive,
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while others changed it to the future time. Examples of these candidates’
sentences were He is the president at teachers trade union and He will be
the president at teachers trade union.

In item (viii) contained the sentence It is a day match. In this item, an
apostrophe was supposed to be at the end of the word day to mark
possession. The correct sentence, after attaching an apostrophe and letter s
should read, It is a day’s match. However, this was not the response by
some candidates. They provided answers contrary to the instruction.
Several reasons led to their failure. These are described in more detail
below.

Failure to understand the demand of the question was one of the reasons for
the candidates’ failure to address this item. Consequently, some of the
candidates changed the tense to the past, whereas others changed it to the
future time. Thus, they created sentences that were contrary to the
instruction provided. Examples of the sentences were It was a day match; It
had been a day match and It will be a day match.

Further analysis shows that some of the candidates had knowledge of
apostrophe. However; they failed to attach the apostrophe to the correct
word. Evidently, they incorrectly attached an apostrophe and s to the word
match. Consequently, they created ill-formed sentences instead of rewriting
the given sentence to show possession. For example, It is a day match’s
was formed by these candidates due to the misplacement of the apostrophe.

Additionally, there were candidates who added s to different words of the
given sentence. They added s to words it, day and match, contrary to the
instruction of the question. Examples of the created sentences were Its is a
day match; it is a days match and it is a day matchs. These candidates had
limited knowledge of showing possessive case by using an apostrophe.
Extract 6.1 is illustrative.
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Extract 6.1: A Sample of Incorrect Response to Question 6

Extract 6.1 shows that the candidate failed to attach an apostrophe to any of
the sentences as instructed. The candidate, alternatively, added possessive
pronouns to items (i), (ii) and (iv) while reproducing the same sentences in
the rest of the items.

Conversely, those with good performance were 6,784 (1.4%). These
candidates correctly rewrote all sentences using apostrophes to show the
possessive case as Extract 6.2 shows.
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Extract 6.2: A Sample of Correct Responses to Question 6

Extract 6.2 shows that the candidate demonstarted adequate knowledge of
possessive cases by using apostrophes. The candidate correctly rewrote all
sentences by marking an apostrophe so as to show possessive case as
instructed.

QUESTION 7: Reporting Dialogue

The candidates were required to report the dialogue as Janet in (i) and as
Ali in (ii) in a single paragraph. The question tested the candidates’ ability
to construct sentences in reported speech. It was as follows:

Consider the following dialogue between Ali and Janet and then
answer the questions that follow.

Ali: Hello, Janet, where are you going?
Janet: I'm going to the playground to watch a football match.

Ali: (laughing) I'm going to the bus stop to receive my brother who is
coming from Pemba.

Janet: Then you must hurry up.
Questions:

0] Image that you were Janet; report the dialogue to another
person in a single paragraph.
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(i) Assume you were Ali; report the above dialogue to another
person in a single paragraph.

All the 487,541 (100%) candidates attempted the question. Among them
470,988 (96.6%) scored from 0 to 2 marks; 9,225 (1.9%) scored from 3 to
5 marks and 7,328 (1.5%) scored from 6 to 8 marks. Of the candidates with
weak performance 459,124 (94.2%) scored 0. Their general performance
on the question was weak, considering that only 3.4 per cent of the
candidates scored an average of 30 per cent or above of the marks allotted
to the question. Figure 6 shows the candidates’ overall performance on this
question.
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Figure 6: Percentages of the Candidates’ Performance on Question 7

Analysis indicates that 96.6 per cent of the candidates whose performance
was weak failed to report the given dialogue as instructed due to various
reasons.

The lack of knowledge of the reported speech contributed to these
candidates’ poor performance. Consequently, they did not address the
questions asked. Item (i) asked the candidate to imagine that he/she were
Janet and then to report the dialogue to another person in a single
paragraph. Item (ii) required the candidates to report the dialogue to
another person in a single paragraph by imaging that they were Ali.

To report correctly the given dialogue as Janet, the candidate was required
to use the Simple Past Tense and the Past Progressive Tense. The Simple
Past Tense is shown by the verbs asked, replied and told. Likewise, the

Past Progressive Tense is found from the verb phrases was going and was
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coming, respectively. To report correctly as Ali, the candidate was required
to use the Simple Past Tense and the Past Progressive Tense. The Simple
Past Tense is shown by the verbs greeted, asked, replied and told.
Likewise, the Past Progressive Tense is indicated in the verb phrases was
going and was coming, respectively.

Therefore, reported speech was supposed to be as follows;

(i) Al asked me where | was going. | replied that | was going
to the playground to watch a football match. He told me
that he was going to the bus stop to receive his brother who
was coming from Pemba. Then | asked him to hurry up.

(i) | greeted Janet and asked her where she was going. She
replied that she was going to the playground to watch a
football match. I told her that | was going to the bus stop to
receive my brother who was coming from Pemba. She
asked me to hurry up.

However, some candidates reported using the Present Progressive Tense
instead of the Simple Past Tense and the Past Progressive Tense. Thus, to
the first sentence, they responded Ali is asking me where | am going now,
instead of Ali asked me where | was going. Then, to the second and third
sentences, they reproduced the sentences as used in the dialogue. All
sentences conformed to the Present Progressive Tense. To the last sentence,
they responded, you are hurrying up instead of then | asked him to hurry

up.

Failure to understand the requirement of the question also contributed to
some of the candidates’ poor performance on the question. Hence, they
created wrong dialogues. For example one of them responded as follows:

John: How are you?

Peter: 1 am fine

John: What do you like?

Peter: I like Yanga Sports Club.

Further analysis indicates that the candidates lacked knowledge of the
appropriate tense for reporting events. For instance, some of these
candidates changed all the sentences provided to the future time. They used
modals such as will and shall. For example, Hello, Janet, where will you
go? 1 will go to the playground to watch a football match; I shall go to the
bus stop to receive my brother who is coming from Pemba and you will
hurry up.
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Furthermore, some of the candidates skipped both items while others
copied the dialogue as their response. These candidates failed to report the
given dialogue as instructed. Extract 7.1 illustrates this scenario.

Zl Hetlo! v reed 40 g0 B0 ﬂ\L”lgqcuNtJ o waleh e
v A
match whah Wil commreee  of Spar_te he e-unr_j
odty
J

(> h..' 11y D uoed Yo urdeh the  gredck vgu shoutd
wm fuv  you ose cot lote bt for we  lom gauig to fhe

bud hg__h_'&ul.__}_um}hm'm u'ummgmlhﬂm.__

Extract 7.1: A Sample of the Incorrect Response to Question 7

In Extract 7.1, the candidate manifested a lack of knowledge of the
reported speech. Therefore, he/she provided incorrect responses.

Conversely, 7,328 (1.5%) candidates who performed well on this item
understood how the direct speech changes into indirect speech or reported
speech. They managed correctly changed the Present Progressive Tense to
the Past Progressive Tense as shown in Extract 7.2
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Extract 7.2: A Sample of the Correct Responses to Question 7

2.2.6 Question 8: The Use of Prepositions

The question instructed the candidates to construct one sentence by
using prepositions for each of the functions given in items (i) - (iv).

The question was as follows:

Construct one sentence by using prepositions expressing each of the
following functions.
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(i) Stating relationship between people.
(i) Meaning ‘higher than’ something.
(iii) Denoting speed of an object.

(iv) Signifying possession.

The question tested the candidates’ ability to construct sentences with
appropriate prepositions.

All the 487,541 (100%) candidates attempted the question. Among them,
476,467 (97.7%) scored from 0 to 2 marks; 7,328 (1.5%) scored from 3 to
5 marks and 3,746 (0.8%) scored from 6 to 8 marks. Of the candidates
with weak performance, 452,228 (92.8%) scored 0. Their general
performance on the question was weak; only 2.3 per cent of the candidates
scored an average of 30 per cent or above of the marks allotted to the
question. Their overall performance on this question is summarised in
Figure 7.
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Figure 7: Percentages of the Candidates’ Performance on Question 8

Analysis indicates that 476,467 (97.7%) candidates with weak
performance failed to construct sentences using correct prepositions due to
various reasons. They were not knowledgeable about the use of
prepositions for various functions.
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Item (i) required the candidates to construct sentences using a preposition”
which states relationship between people. The prepositions to, with and of
could have been used to address the question. To achieve the task, the
candidates were required to contextualize the prepositions. Example
sentences are John is related to Mariam and | live with my parents.

However, the candidates who failed to address this question did not
understand the proper use of prepositions which state relationships. Some
candidates stated family relationships without using prepositions. For
example, one candidate wrote the relationship between Aisha and Flora is
that they are mother and daughter. Another candidate wrote Paulo has
relationship that is his girlfriend Winifrida.

Others constructed sentences which did not state relationships between
people but between inanimate objects. Examples are a car is in the garage;
a book is on the table; the bus was at the bus stop.

Item (ii) required them to construct sentences using prepositions to mean
‘higher than’ something. In this item, the candidates could use the
prepositions above or over to fulfil the requirement of the question. For
example, the hydrogen balloon rose above the clouds.

The candidates who failed to address this item did not understand the
proper use of the prepositions which state meaning higher than something.
Some of these candidates used comparative and superlative forms of
adjectives instead of prepositions. Examples given were: Juma is taller
than Joseph; Tiger is the fastest animal and Mwanakombo is the youngest
girl.

Moreover, other candidates made sentences with prepositions that did not
address the requirement of the question. Some of them used prepositions
of time, such as at, on, in. Examples sentences are: | will see you at night;
my birthday is on January; the world cup was held in 2018. Others
constructed sentences using prepositions of place: For instance, | saw it at
the front desk; I put the money in my wallet and we spent an evening at
home. Furthermore, some of them copied the instructions as their
responses whereas others skipped the item.

Item (iii) asked the candidates to construct a sentence using prepositions
which denote the speed of an object. For example, the car runs at 80 km

* A preposition is a word or group of words used before a noun, pronoun, or noun phrase
to show direction, time, place, location, spatial relationships, or to introduce an object.
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per hour; the motorcycle runs with high speed; the engine runs on
dangerous speed.

However, some candidates constructed sentences with prepositions which
do not show the speed of an object. Some of them used prepositions of
time such as at, on and in whilst others used prepositions of place.
Therefore, they made sentences such as We were eating some food in the
evening; She visits her friends at Christmas and We usually go to church
on Sunday.

Another group of the candidates who failed to address this item made
sentences which did not contain prepositions. For example, one of them
wrote we saw a lady walking as slow as a chameleon. The sentence was
grammatically correctly, but it lacked a preposition that denotes speed.

Item (iv) tasked them to construct sentences using prepositions that signify
possession. The candidates could use the prepositions of and with to
signify possession. Essentially, such prepositions must be in the sentences
that suggest possession. For example, the factory of our company is now
operating and the woman with long hair is my sister.

Analysis shows that the candidates who failed to address this item did not
know the proper use of prepositions that signify possession. For example,
one candidate wrote the pen on the table is mine. This sentence does not
have a preposition indicating possession. Yet, the word mine in that
sentence is a possessive pronoun and not a preposition.

Moreover, analysis shows that other candidates used prepositions which
did not signify possession. For example, She is looking at me: we were
eating with her and Abdallah is sitting on a chair. All the sentences by
these candidates have prepositions but they did not signify possession.
Extracts 8.1 and 8.2 show the responses of candidates who failed to
compose sentences by using prepositions as instructed.
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Extract 8.1: A Sample of the Incorrect Responses to Question 8

In Extract 8.1, the candidate lacked knowledge of prepositions and their
functions. Hence, he/she copied the task as responses.
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Extract 8.2: A Sample of the Incorrect Responses to Question 8

In Extract 8.2, the candidate demonstrated inadequate knowledge of
prepositions. Accordingly, he/she could not construct sentences using the
prepositions as required.

In contrast, 3,746 (0.8%) candidates correctly constructed sentences using
the prepositions as required. These candidates were knowledgeable about
prepositions and their functions in different contexts as illustrated in
Extract 8.3.
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Extract 8.3: A Sample of the Correct Responses to Question 8

SECTION C: Essay Questions

This section consisted of four (4) questions: 9, 10, 11, and 12. The
candidates were instructed to answer only three (3) questions. Each
question weighed 15 marks. The whole section had a total of 40 marks.

QUESTION 9: Composing a two Stanza Poem

This question demanded the candidates to compose a two-stanza poem
with four verses each and identify the literary devices used. The devices
were metaphor, personification, simile, hyperbole, persona, refrain and
barbarism. These are described below:
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(i)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

The question tested the candidates’ literary creativity and analytical skills

and it was

You have attended lessons on creative writing by using literary
devices. Compose a two stanzas poem with four verses each and
identify the following literary devices from the poem you have

Metaphor: The direct comparison of unlikely objects/things
without using conjunctions

Personification: The attribution of human traits to non-
human beings for artistic effect or intended message

Simile: The comparison of unlikely objects/things by using
conjunctions like as ...as, such as, like, as if

Hyperbole: The exaggeration of facts or realities e.g. | ate
a million of rice plates at the ceremony

Persona: The character who speaks in a poem to deliver a
certain message

Refrain: The repetition of a verse at the end of each stanza
in a poem

Barbarism: The use of a word from a different language as
the main text language for artistic reasons

as follows:

composed.

(i)
(ii)
(iii)
(iv)
(v)
(vi)

Metaphor
Personification
Simile
Hyperbole
Persona
Refrain

(vi) Barbarism

The question was attempted by 151,091 (31%) candidates. Among them,
123,307 (81.6%) scored from O to 4.5 marks; 8,567 (5.7%) scored from 5
to 9.5 marks and 19,217 (12.7%) scored from 10 to 15 marks. Of the
candidates with weak performance, 121,035 (80.1%) scored 0. Their
general performance on the question was weak; only 19.8 per cent of the
candidates scored an average of 30 per cent or above of the marks
allocated to the question. Their overall performance on this question is

summarised in Figure 8.
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Figure 8: Percentages of the Candidates’ Performance on Question 9

Analysis shows that 121,035 (80.1%) candidates with poor performance
on this question failed to compose two-stanza poems as instructed.
Moreover, they exhibited insufficient knowledge of the literary devices
required by the question. Some of these candidates did not compose a
poem, but they defined the literary devices. Yet, the definitions were
wrong. Besides, they were not required by the question. For example one
of the candidates defined metaphor as the book of literature in which
characters are doing actions only. Another candidate defined
personification as the literary devices through which actions are similar.

Moreover, other candidates failed to compose a poem but reproduced
poems by other poets. They reproduced poems such as Eat more by Joe
Corrie, Building the Nation by Henry Barlow and You are lost by Isaac
Mruma. These candidates did not understand the demands of the question.
Therefore, instead of creating (composing) a poem, they reproduced
poems by other poets.

Poor proficiency in the English language was also an obstacle facing some
of the candidates. These candidates composed poems in Kiswahili. For
example, one of them wrote:

Maisha ni magumu

Bila hata ya kulaumu
Nasubiri siku ya Hukumu
Naweka hii yangu kalamu
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Others reproduced poems Kiswahili poems. They failed to compose
poems in the English language. Yet, others reproduced the famous
Kiswahili poem ‘Kama Mnataka Mali Mtayapata Shambani’ as follows:

Karudi Baba mmoja, toka safari ya mbali
Kavimba yote mapaja, na kutetemeka mwili
Watoto wake wakaja, ili kumtaka hali
Wakataka na kauli, iwafae maishani.

Akatamka mgonjwa, ninaumwa kweli kweli
Hata kama nikichanjwa, haitoki homa kali
roho naona yachinjwa, kifo kimenikabili,
kama mwataka kauli, semani niseme nini.

These candidates, nevertheless, failed to identify the literary devices from
the reproduced poems.

Further analysis indicates that some of the candidates misinterpreted the
requirement of the question. They wrote messages and themes of various
poems by other poets. These candidates could neither create their own
poems nor identify the literary devices. Alternatively, they chose prose
works other than poems of which to write the messages and themes. The
works used by these candidates were This Time Tomorrow by Ngugi wa
Thiong’o, Passed like a Shadow by Bernard Mapalala, Three Suitors one
Husband by Oyono Mbia and Unanswered Cries by Osman Conteh.
Extract 9.1 shows the response by a candidate who failed to compose a
poem and identify the literary devices.

52



T 11/ M{}rmhm S ﬁu poem heaa }D'H')L

N fb;mujhm )‘0 1 (’olu Ny ’iL)‘ 0t ' ‘_
d'- thoma Lile g nel tebh e Thy
ey mothe s on A _how) Jlle’lQ'
Yo molher the Hou dmt ethy hows

[}‘IDU})[HU | L neddenal ia ﬂu \f}e

%_[&V)ﬂ? ahon i tatad ey od ”qa
MCulrunaj;/n ham Py //)Yhn):‘;h g r k.
12l lfu')n.l m[/jnna ﬁ/ 71 r/(' ('(rbr/ /)IP

o dlrsrec fy fre iL(//[a e Coslidng
2k
/ Cale - lhat /ﬁrma seehy B
ﬁ) rocleicisn e 27y féz Va IO At‘/h/ .

I \imele s woceys paz 0 /D
el (tagns knle  The [laome

Loc e B o fiun D e Sl

M Xdagber bole  [f Lot [Eatia A[p dur
fhe Tldmnie 1f wdy Ao lbborg 1h

12/4 ﬂ[/}/[op/ I;& patoronh L4 ZA{)

f////// »

q. WB#//I?/ Tt peaplo /m/ sd ﬂm }@P/h
b / /ﬁfn 200 [ Yoo, /Ao f Loz iral

Tl e /}mrm@

-,
YIS I i ok i/ /,’f/ N

1hay Wal wiar //1141 y/na //”)&/ wﬁ/
pow B il fhe! /;/J//m n Jhaw W

(e Lo dbig@ b W 77h/ Lal1in /b //mo

f/ //////enajf

V(1> /f/ Lta/ //Mﬂo /%Q/ i /)/I’)’Tl./:(m ﬁ(w

ya r"dcuyza
i

Extract 9.1: A sample of the Incorrect Responses to Question 9

In Extract 9.1 the candidate failed to compose a poem and identify the
literary devices. Therefore, he/she incorrectly defined the literary devices.
These responses demonstrate their poor mastery of the English language.
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In contrast, 19,217 (12.7%) candidates with good performance correctly
composed poems. They also identified the literary devices the poems
contained. For example, one candidate in item (i) created a Metaphor,
your mind is weapon. In this verse the metaphor presented by an auxiliary
verb ‘is’ to explain that his mind is not a weapon, but it is compared to a
weapon.

In item (ii), personification was written by one of the candidates as her
beauty screams to the world. In this verse, personification was presented
by the phrase ‘beauty screams’. In reality, beauty cannot scream.
Therefore, personification arose by giving the abstract noun beauty a trait
of human beings.

Likewise, these candidates succeeded in creating and identifying similes in
item (iii). Examples of the similes they composed were just like a flower
that everyone adores. From this verse the simile presented by a correlative
conjunction ‘like’ to explain that something was adored in the same
manner of the flower is adored.

In item (iv), a hyperbole was created by one of the candidates as she told
me a million times. In this verse, the hyperbole exaggerated the fact of
telling. That is, in real sense, one hardly tell someone else something a
million times, rather it is only a few times. Additionally, in item (v), the
persona was well identified by the candidates in this category as persona
was the character who speaks in a poem.

Furthermore, the candidates employed refrain in the poems to respond to
item (vi). One of the refrains these candidates used was and ready to face
the struggles of life. According to the poet, the refrain aimed at
emphasizing the continuation of life struggle. In item (vii), Barbarism was
identified by the candidates who correctly created poems. These
candidates indicated barbarism in one of the verses. One candidate wrote
in his/her poem ‘you were like a warrior Baba’. In this verse, barbarism is
presented by the Kiswahili word ‘baba’. Extract 9.2 is illustrative.
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Extract 9.2: A Sample of the Correct Responses to Question 9
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2.3.2

Question 10: Showing how Poets Use Devices to Deliver Messages

The candidates were required to use two poems to show how poets use
poetic devices to deliver their message to society. The question was as
follows:

“Poets/poetess uses poetic sound devices to convey messages to
society.” Using two poems which are prescribed under this
section validate this statement by giving three points in each.

The question aimed tested the candidates’ abilities to use various poetic
techniques to convey messages.

A total of 393,570 (80.7%) candidates attempted the question. Among
them, 383,387 (97.4%) scored from 0 to 4.5 marks; 8,571 (2.2%) scored
from 5 to 9.5 marks and 1,612 (0.4%) scored from 10 to 15 marks. Of the
candidates with weak performance, 242,144 (61.5%) scored 0. Their
general performance on the question was weak since 19.8 per cent of the
candidates scored an average of 30 per cent or above of the marks
allotted to the question. Their overall performance on this question is
summarised in Figure 9.

2.2 04

- =
\ /

B0-45
5.0-935
®100-150

97.4

Figure 9: Percentages of the Candidates’ Performance on Question 10

Analysis indicates that 383,387 (97.4%) candidates with weak
performance manifested several weaknesses. Some of them
misinterpreted the requirement of the question. For example, some
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candidates used novels to write messages which are found in them
instead of poems. They cited novels such as Passed Like a Shadow
written by Mapalala, Unanswered Cries authored by Conteh, and Weep
Not Child written by Ngugi wa Thiong’o. These candidates were
supposed to cite poems and explain the sound poetic devices such as
Alliteration, Reiteration, Consonance, Onomatopoeia and Rhyme.

Additionally, other candidates used Plays to write the messages they
contain. The plays included The Black Hermit written by Ngugi wa
Thiong’o and The Lion and the Jewel by Wole Soyinka were used to
express messages, contrary to the requirement of the question. Yet, other
candidates used poems which were not recommended in the section.
These included Eat More by Joe Corrie and Your Pain by Armando
Guebuza. The mentioned poems were not on the list of poems to be used
in the examination.

Furthermore, the candidates lacked knowledge of the meaning and uses
of sound poetic devices as well as their messages to the society. This
challenge was observed as the candidates wrote and explained the issues
found in two poems. They provided issues such as disappointment,
betrayal, poverty, portrayal of women, and exploitation, instead of sound
poetic devices and their messages. Besides, some of them copied the
question and used it as their response. Hence, the candidates lacked
knowledge of poetic devices.

Another challenge faced the candidates was their poor command of the
English language. Hence, they failed to write their responses in the
English language. Some of them even wrote them in Kiswahili. Besides,
others used codemixing between Kiswahili and English. For example, one
of them wrote ujumbe wa mashairi husika ni kuishi kwa Amani na upendo
while another candidate wrote Maudhui ya shairi ni mengi lakini
umaskini, mapenzi na migogoro ni miongoni mwao. The candidates could
not express themselves in the English language. Thus, they decided to use
Kiswahili. Extract 10.1 shows a response by a candidate with weak
performance.
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Extract 10.1: A Sample of the Incorrect Responses to Question 10

In Extract 10.1, the candidate failed to write the sound poetic devices
from two poems. Alternatively, he/she wrote the figures of speech,
contrary to the demand of the question.

Conversely, analysis shows that 1,612 (0.4%) candidates with good
performance correctly used the sound poetic devices and showed how
they delivered the intended message to the society. These candidates
made their references to two prescribed poems. For example, some of
them used a poem like A Freedom Song written by Marjorie Macgoye.
They correctly cited alliteration as a sound poetic device. This sound
device deals the repetition of similar consonant sound at the beginning of
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each word within the verse of the poem. In the mentioned poem, the
poetess has repeated the consonant sound /s/ to express Atieno’s
exploitation. She said that, in our society, exploitation is common. Hence,
the poetess conveyed the message to the society that we should alleviate
all forms of exploitation.

Moreover, they also supported their answer with a quotation form the
poem as the poet says;
Since she is my sister’s child
Atieno needs no pay

Furthermore, the candidates who used the poem Building The Nation by
Henry Barlow showed the sound device called assonance. This refers to
the repetition of similar vowel sounds within words in a verse of a stanza.
The poet showed assonance by using the vowel sound /i/. He has used
assonance to show the lies, hypocrisy, betrayal and misuse of public
resources which was done by the Permanent Secretary (PS). The PS lies
to the driver that he has attended a meeting and he has not eaten anything.
This was lies as he had taken beer, ice-cream, coffee and chicken. In our
society, hypocritical leaders are common. Hence, we should elect good
and responsible leaders. This was shown when the persona says;
Highly delicate diplomatic duties you know

From the Song of Lawino and the Song of Ocol by Okot p’Bitek, the
sound devices which have been cited by the candidates included
consonance, which means the repetition of the same consonant sound at
the end of the different stressed or consecutive words in a verse.
Consonance is seen when Lawino says:

Sowing, weeding and harvesting

The sound/yy/ in words sowing, weeding and harvesting is repeated. This
consonance gives the message that Africans work hard (Africans are not
lazy) and systematically as they practice farming according to respective
seasons.

Onomatopoeia: This refers to the formation of a word from a sound
associated with what is named. In this poem onomatopoeia is seen when
Lawino says:

Ocol has brought home
A large clock
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1t goes tock tock tock tock’

The word tock is onomatopoeia which imitates the sound of the clock.
This has been used to reveal Lawino’s ignorance about ways which are
used by modern people to tell time. This gives the message that Africans
have to change according to time. They should not only stick to their
traditions in which some of them are outdated. Extract 10.2 is a response
by one of these candidates.

10 chlvc SOoncl_c’Qvlms cogorg ‘La \‘b
aew(‘ei @_ﬂ&ﬂmrv La rmﬁr’ ‘u\o worL Or
ack. Mosmoo fegecs L e s_ll».mJ,L.CL ic leaen! in

L efmu_wofk Am&oo_mb_mqmu_paan l=_koown

0s a mal m_Lalgo ,'n

10 women o femglo ?ggdgp_ is Lm,gr_\ ac paeles Bk [
poelﬂc LSES qu!m Quicé> or 'cmaltc Sound cvams Lo

Govey  meisageg Ao the : 1
onTlL;; jecl-ion such ag " BuininG THE mamion”
by Heacy cbnépbe: Baclow. oo * EREepom SoNG ' hy
Mafmms oludfo MO{QAIQ OML L.; Slquvon ,ulkll;
m__B_u_me_ﬂ_e mA‘noN Hn collowuo:ore e
oaglm de Sond devices used by Qg&s oc Fgek-, S 10(41’4
o0 m’-«x{a{___mnsch lo ‘u'? SacrpLJ
AlLlemllmi ro zer;—]b be remua»

mie:_mnmﬂ_&d_A_l_LLhegmnmn 9 wordc

i’k I R Bl e Lv
Of &ounr, IC(' Jm_,d"ou ‘ue l,gg Qg& hﬂ“”% g« “n

; 1 lr;/ (Ps) whe 15 fy.m Lo He erprum[
he bog attended” dolicole @h&_ﬁ&_@a
l;‘.rml lfve La 1S a.l ll; viIC 10 Love 'unc(- anrl ml lq
athend Lmoel-m To ar urvg# te 15cue o heg and
a | 2 il i . Heeko uo shol
be bore! ond ‘ozaf each olloc - Thie ic shown when

CLonn, Saxs

/‘“{:}”;/ JefimLA{plnmlx duhec o

Know
Accononce s repeec o Mo copelban
? ( smn:’ ununr\ uJOrclﬁ 10 0 vecSe oL O

Shonza_ Tle g is 55,,,,99 assononce Lz Yo o of
Soud (). The ug.n&m;z_shw%"ﬁ

61




10

Ljoouasy m‘_ﬂ‘izmmgm pk]zc [eCaUCes chL

KAmg bv He  Bocoonenl Ser.céa.cf_(_m__."‘a Pec mevenl

Secrelorv lues la He Jr-ver he hag Oumclngo a

muhna_md__'*g_bn._nd_m[:m_nqlhz_}w
faken beec, icecrcomn , geied prees cod chyken Tn our

EDUQ,?I h\!?ocn’v

¥
- ULJ\I;: dﬁ!i.miclwém&c_ﬂa_pn know,”

Consononce, cogers bo e copebibn
le ecdd of wordc navecse ofa

of mnsmcnl SOJI'A a‘- 4 !

Slama n! mel bk 1S using  ronsaconce by e o o

courd 18! which ig v;&_m_mer'm_ public

ceLouraes which g done ‘:v He D Dérmol Seme‘mr

RQIMA_‘"-LM lo o.1 lo Ju‘.l.menl

ingh gl fle wan do have

lunch T our sociely 't’g!ﬂx_m'na_.mus:_pﬂm_mmn

Qce vthr COMOOD -

mn‘nﬁlg_m“!m__bggp acmun‘ﬂLL(&Lx io ‘uﬂr

nakan Jeu’aompni Thic s Sl‘WuLA ‘Lg\ Ue _pecsana

Soy
Gld Frod gros uilh rocebles
T pll e hollownesg of e lagghs
&»nr’ lcl
Twmm 1o ‘uem Tj@ FRGGO(N
NG " [ ogs by

A“Jv Lcn fefocs Jo -uc qgt-l\m

op sumlec consanent  sound ab Mo beginnicg o weeds 10

G verge af o pPouem In u( anm_nﬂl_!;gmfm_s_‘nm Lv

He use OLSQ&YJ]S' aod L s peod o how g‘p?o,kigm

which 1 dang by Along's uncledn Aleno uho 1S grven

62



u.\}!n uﬂ —peciort. Soy

" Sioce She 1¢ my Goderc chid
hona reedc Mo pay

Al

Sq,g;’ Is] A

coreaen 0nd peachised b 1o Yo macl of Yo famibes
l-hmzl_uh_gaa.nmLMnHuL chytllaboy - This
s s falCa's +1 _Sn.v
Am_msbu_dul'ﬁ

Me:g_gek_m_mrlv

J“:m___lxr_;g_ck Jdvﬁ in e LI‘CLQA

Phieno eght yencc od

’ L

Reperhian Aonaphacay . regecc ol (o

ol 'l ‘N [ 10 Koo

Te_peol used

em
Wmi A{&m__iu_shm_dmuhhm_&uur_ml'm

explodabicn ool oppceccian  which 1s dace by Aleno's

Una‘ Sincg hg Sﬁk I_-m‘ Pnﬁd gm ‘u'nk wtw

he 15 ot  teen fesm,_LL n e 'M‘avgr or |mm

‘l 1 s (Ll:i °L

o is Hence ue SUJ

63



2.3.3

| 1ol i1 b

? ICLN)L%‘{ ﬂ’scrn(rLL JQ Here dhldeen - Thie 1s choue
| when mcscm Say l
| . Alane " wades & didec

Abere Olocke e hicken o)
Al gels up eocdy

Bed< dowin boc sack o He krld‘{\
N'Qﬂz e'ﬂ"iyéof_{ 0’0'

Ao ya( s |
| G /! . loarn  vanovg |
H»..ms L%#_MMMM_T—;
Pock rroy vse Homec or paebic soud deuces but Fey | |
LOL_Ovm QL C Lo |
o <ocoly. Tle poolc above eaplons o use o le
‘oapl!c PVICS S ‘lO (cnv(arz mx&cgc& -Lu ‘uemg}

-

Extract 10.2: A Sample of the Correct Responses to Question 10
Question 11: Justifying the Given Statement

This question instructed the candidates to justify the statement which says
that “Challenges in life are the source of disappointment for many people
in the family and the society in general” by using two plays read. They
were also required to provide three points using each play.

The question was attempted by 473,334 (97.1%) candidates. Among
them, 247,908 (52.4%) scored from 0 to 4.5 marks; 168,273 (35.6%)
scored from 5 to 9.5 marks and 57,153 (12%) scored from 10 to 15
marks. Of the candidates with weak performance, 123,241 (26%) scored
0. Their general performance on the question was average since 47.6 per
cent of the candidates scored an average of 30 per cent or above of the
marks allocated to the question. Figure 10 summarises the candidates’
overall performance on this question.
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Figure 10: Percentages of the Candidates’ Performance on Question 11

The candidates with weak performance on this question faced several
challenges, which revealed their weaknesses. Some of the candidates,
instead of showing challenges which were the source of disappointment,
explained characters and their roles played from the book. For example,
one candidate wrote, Sidi is the beautiful of the villages. Many people in
the society of sidi, sidi between society in the beautiful in villages. The
female of beautiful. Furthermore, this candidate demonstrated inadequate
command of English. Others wrote, Baroka is the chief or king of village.
Baroka is wife. Baroka to change the female or mother. Baroka is
betrayer of my wife.

Other candidates responded to the question by explaining themes from
the two plays without linking them to the demand of the question.
Themes such as corruption, tribalism, bride price, protest, betrayal and
conflict were observed. For example, one candidate wrote, corruption;
the book of the black hermit is very good to see the corruption in this
book acorruption.it is very bad in in the society and others because is one
of the barrier of development in the country and society.

Another candidate wrote, bride price; the government are very good in
the society and others, the government it helps to maintain peace and
harmony in the society. Furthermore, these sentences were meaningless
and ungrammatical. These candidates had partial knowledge of the book
but failed to explain the challenges that cause disappointment by linking
them to the books read.

65




Other candidates created their own question when they were explaining
conflict from the books as their main concern. They explained and
described various conflicts between characters from the books with their
causes. For example, one candidate wrote, Juliet and her family in many
society parent use their daughters as source of income here we see that
Atangana used her daughter as a source of income to get pride price
from the suitors which Juliette refused thus, this brought conflict between
them.

Other candidates just defined some terms from the question wrongly of
course to respond to the question. For example, one defined
disappointment as the personal that unit and character is any
development formed high formed by followed high from character. This
was also characterised by the poor command of the English language.
Extract 11.1 presents an example of the incorrect responses to the
question.
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Extract 11.1: A Sample of the Incorrect Response to Question 11

Extract 11.1 shows that the candidate wrote points on the themes but
he/she failed to provide clear explanation. Yet, the response demonstrates
the candidates’ poor command of the English language.

The candidates with good performance accounted for 12 per cent, and
they scored from 10-15 marks. These candidates provided good

introductory parts of their responses.
the term disappointment as a feeling

In their introductions, they defined
of unhappiness because things are

not as good as someone expected. They also stated the two plays that they
would use in responding to the question.
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The candidates who used the play The Lion and The Jewel by Wole
Soyinka explained the challenges caused by cultural values, including
payment of bride price. They wrote that Sidi is disappointed with the
payment of bride price, since she expected to be married to Lakunle, a
school teacher at llujinle Village. However, the custom required Lakunle
to bride price in advance. Unfortunately, he refuses to do so because he
believes that paying bride is the same as buying commodities.

Moreover, Sidi goes to marry chief Baroka out of her will because
Lakunle has failed to pay the required bride price. In many societies
today, some cultural values cause disappointments among people since
the payment of the bride price still exists.

The candidates who used the play Three Suitors One Husband by
Guillaume Oyono Mbia explained the challenges caused by money
mongers. Atangana and other villagers are thus disappointed. This
happens when Sangatiti, the witch doctor who use people’s ignorance to
get money from them, fails to reveal the one who has stolen the money
paid for the pride price in Atangana’s bed room. Hence, Mbia who has
been paid 200,000 francs and Ndi who has been paid 100,000 francs
threaten to call the police.

The candidates who used the play This Time Tomorrow by Ngugi wa
Thiong’o explained the challenges which were caused by the demolition
of peoples slums. This happens when people at Uhuru Market, including
Njango and her daughter Wanjiro, disappointed when the government
demolishes slums and leave people without houses. Evidently, Njango
complains “They are herding us out like cattle, where shall I go now,
tonight? Where shall I be, this time tomorrow?”

Moreover, characters such as Njango, Wanjiro and the Stranger portray
issues such as protest, betrayal, poverty, oppression and humiliation. For
example, the Stranger has been used to reveal unity and protest. This is
seen when he organises people at Uhuru Market to unite and protest
against demolition of their slums.

The candidates who used the play The Black Hermit by Ngugi wa
Thiong’o explained the challenges caused by inheritance of widows.
Remi is disappointed when he is asked by his father to inherit Thoni, his
brother’s wife (after the death of his brother). This makes him to run
away to the city where he becomes a black hermit.
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The candidates who used the play The Lion and the Jewel by Wole
Soyinka used characters such as Lakunle, Chief Baroka and Sidi to
portray issues such as bride price, polygamy, misuse of power, women
oppression, culture and corruption. For example, Lakunle is used reveal
modernity. This is seen when he asks his fellow Africans such as Sidi to
abandon African traditional ways of life and adapt the new style of eating
using spoons and forks.

Those who used the play ‘Three Suitors One Husband’ chose characters
such as Juliette, Atangana and Mbia to portray issues such as polygamy,
feminism, the importance of education to women, protest, ignorance and
superstitious beliefs. For example, Juliette is used to reveal the importance
of education. She applied her education to fight for girls’ rights. Extract
11.1is a response from one of the candidates with good performance.
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Extract 11.1: A Sample of the Correct Responses to Question 11
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234

Question 12: Defending the Given Assertion

This question required the candidates to use two novels to defend the
assertion that ‘lgnorance has been one of the barriers towards
development’. They were required to provide three points from each
novel. The question was as follows:

Defend the assertion that “ignorance has been one of the
barriers towards development.” Provide three points from two
novels you have read.

The question tested their ability to read, understand and interpret literary
works.

The question was attempted by 444,586 (91.2%) candidates. Among
them, 262,232 (59.0%) scored from 0 to 4.5 marks; 138,194 (31.1%)
scored from 5 to 9.5 marks and 44,160 (9.9%) scored from 10 to 15
marks. Of the candidates with weak performance, 114,710 (25.8%)
scored 0. Their general performance on the question was average since 41
per cent of the candidates scored an average of 30 per cent or above of
the marks allotted to the question. Their overall performance on this
question is summarised in Figure 11.
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Figure 11: Percentages of the Candidates’ Performance on Question 12
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Analysis indicates that 138,194 (31.1%) candidates who address well this
question provided good introductions. They defined the term ignorance
as a state of being unaware of a particular thing, idea, situation, or state of
affair or the inability of knowing what is right to be done for more benefit
as it is always parallel with ‘illiteracy as inability of reading and write’.
They also stated the two novels they used in responding to the question.

The candidates who used A Wreath for Father Mayer by S.N Ndunguru
explained how the writer portrays ignorance as a barrier towards
development as follows: People are ignorant of cholera. It is witnessed in
people’s perception that the cholera epidemic is taking place at Mkongo
parish because it is caused by witchcraft. As a result, when Adolfo’s child
falls sick he accuses his grandmother of witch bewitching his child.
People do not know that cholera is caused by drinking and eating
contaminated water and food, respectively. This ignorance is also
common among communities in Tanzania. For instance, Tanzania is
using large sums of money to combat cholera, malaria, and bilharzia due
to ignorance of the people who continue to expose themselves to risky
conditions such as using contaminated water/food, exposing themselves
to mosquito bites and drinking or bathing in logged water.

The candidates who used Passed Like a Shadow by B.M Mapalala,
explained how the writer portrays ignorance as a barrier towards
development. People are ignorant of the causes of HIV/AIDS. The people
perceive it as a disease which is caused by witchcraft and evil spirits.
Amoti for instance, thinks that her husband, Adyeri, has been bewitched
by Birungi, his concubine. Amoti’s ignorance is also witnessed among
people in our societies. When they fail to establish the causes of some
diseases, they tend to believe that it is witchcraft. Accordingly, many
witch doctors, especially in the cities, take advantage of people’s
ignorance and erect their sign posts in every corner of the city
proclaiming that they cure cancer and HIV/AIDS.

Moreover, the candidates who used The Interview by Patrick Ngugi,
explained how the writer portrays ignorance as a barrier towards
development. People were ignorant of offering first aid. The pedestrians
were ignorant of providing first aid. They have failed to help Cucu or
provide information to the police or even accompany her to the hospital
with the ambulance. Many people in our societies run away from helping
people in trouble. For example, when road accidents occur people rush to
steal valuables instead of helping the victims.
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The candidates who used Unanswered Cries by Osman Conteh explained
how the writer portrays ignorance as a barrier towards development.
People are ignorant about the causes of HIV/AIDS. The death of Dr.
Asiatu’s daughter who contracted HIV/AIDS after being circumcised
using unsterilized instruments provides good evidence. This kind of
ignorance also prevails in our societies. For instance, the Kurya of Mara
Region in Tanzania still practices women circumcision using traditional
sages who also use unsterilized instruments. Extract 12.1 shows an
example of the correct responses to the question.
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Extract 12.1: A Sample of the Correct Responses to Question 12

In contrast, the 262,232 candidates with weak performance faced some
challenges. They demonstrated weaknesses such as misinterpretation of
the demands of the question. This was a major challenge encountered by
the candidates. Some of them cited themes other than ignorance from the
novels of their choice. Such themes included poverty, exploitation,
illusion, portrayal of women, unity and ignorance.

Additionally, some candidates wrote on the messages found in the novels
instead of showing how ignorance is one of the main sources of
underdevelopment in many societies. Likewise, other candidates used
plays to describe characters. The plays such as This Time Tomorrow and
The Lion and the Jewel were cited by the candidates. The candidates
described characters such as Wanjiro, Njango and Inspector Kiongo from
This Time Tomorrow and Baroka, Sidi and Lakunle from The Lion and
the Jewel. This was contrary to the demands of the question.
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Moreover, these candidates demonstrated weak command of the English
language. They failed to write their answers in English. Therefore; they
used Kiswahili or mixed both Kiswahili and English. For example, one of
them wrote ignorance ni ujinga au upoyoyo yaani kusoma halafu hujui
chochote kabisa.

Furthermore, some of them described characters and the roles they played
in the novel chosen, which was contrary to the requirement to defend the
assertion that “ignorance has been one of the barriers toward
development”. For example, one candidate wrote Olabisi is ignorant girl
because has small age and she started to has boyfriend also she does not
study so that one barriers toward development. Extract 12.2 is
illustrative.
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Extract 12.2: A Sample of the Incorrect Responses to Question 12

In Extract 12.2, the candidate failed to defend the given assertion.
Therefore, he/she wrote incorrect answers. The candidate demonstrated

poor command of the English language.
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3.0 PERFORMANCE OF THE CANDIDATES IN EACH TOPIC

4.0

The candidates were assessed in ten topics in the English Language
subject in CSEE 2021. These topics were Writing a Variety of Texts;
Talking about one’s family; Reading and Interpreting Literary Works,
Writing Using appropriate Language, Content and Style; Talking about
Past Events/Activities; Reading for Information from Different Sources;
Asking for Services; Using Appropriate Language, Content and Style in
Speaking; Writing Application Letters and Talking about Events.

The analysis of the candidates’ performance on each topic indicates that
the candidates had good performance on Reading a Variety of Texts;
Expressing Opinions and Feelings; Interpreting Literary Works; Talking
about Past Events/Activities; Writing a Variety of Texts; Speaking Using
Appropriate Language, Content and Style and Writing Using
Appropriate Language, Content and Style (77.10%). These topics were
covered in Question 1.

The candidates had average performance on Talking about Events in
Question 2 (37.13%) and Reading and Interpreting Literary Works
(30.14%).

The candidates faced challenges in Asking for Services in Question 3
(27.22%), Using Appropriate Language, Content and Style in Speaking in
Question 7 (20.90%), Writing Using Appropriate Language, Content and
Style in Question 9 (18.39%) and Talking about Past Events/Activities in
Question 5 (11.70%). Others were Talking about one’s Family in
Question 6 (2.90%), Reading for Information from Different Sources in
Question 8 (2.27%) and Writing a Variety of Texts in Question 4
(1.88%).

CONCLUSION

The candidates’ general performance in the English Language subject in
the 2021 CSEE was average. The candidates who had good performance
demonstrated adequate knowledge of the tested topics and a good
mastery of the English language. These enabled them to identify the
requirements of the questions and respond correctly in clear language. In
contrast, a few students had weak performance due to their inadequate
knowledge of the tested topics and poor mastery of the English
language. These factors hindered them from providing correct and
comprehensible responses. See the appendix.
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5.0 RECOMMENDATIONS

To improve the performance of prospective candidates, the following are
recommended:

(a)

(b)

(©)

(d)

(e)

(f)

The least performed topics namely Asking for Services, Using
Appropriate Language, Content and Style in Speaking, Writing
Using Appropriate Language, Content and Style, Talking about
Past Events/Activities, Talking about one’s Family, Reading for
Information from Different Sources, Writing a Variety of Texts
should be learnt/taught with more emphasis using the
competence based approach.

The topic of Reading and Interpreting Literary works,
particularly the sub topic of Interpreting poems, should be learnt
with emphasis on the elements of Form in relation to Content.

Teachers should put more emphasis on teaching writing skills as
it has been observed that students lack this skill especially in
composition and response to reading.

Reading skills should be emphasized in order to improve
candidates’ performance in the future. Both teachers and
students should put more emphasis on reading since it is one of
the core skill needed in the English language. More emphasis
should be put in response to reading in order to help candidates
to perform well in this section; students should be encouraged in
reading books. Therefore, teachers, students and other education
stake-holders are urged to put more emphasize on this area.

Equally important, both teachers and students should put more
emphasis on English structure. It is one of the key areas for
good performance of English language.

Students should be given more exercise, assignments, quizzes,

test and internal exams to equip them with the knowledge of
interpreting the demands of questions.
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Appendix

Percentage
of

. Number of | Candidates

SN Topic Question who scored Remarks

an average of

30 and above

2. | Talking about Events 2 37.13 Average

3. | Reading and Interpreting Literary 10 11 & 12

ol 30.14 Average
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